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Alphabet Series
1. X,V,5,0,],7 (@) L, (B) M () D (D)R
2.RU,X,AD,? (@) F (b) G (c)H (d) 1
3.T,RPN,L,2? (@) ],G (b) LH (c) KK (d)
4B, D, F L P? (@R (b) S (T (dUu
50U B I, P,W,? () D (b) F (c)Q (d)Z
6.H, I, K, N, ? (@) o (b)Q (R (d)S
7.Z?T?N?H?B @QWQKE (b)WRKE (c)XQKE
8.2,Y,X,V,T,S,N,P,?, 2, (a) H,G (b) F, M ()L H (d)], 1
9.C,Z,F,X,LV,LT,0,2,? (a)O,P (b)P,Q (R R, (d)S,R
10.7Z,S,W,0,TK QG,?2,? (aJN,C (b)N,D (c)o,C (d)o,D
11.A,Z,X,B,V,T,C,R,?2,? (@JP,D (b)E,O (c)QE (d)o,Q
DOUBLE ALPHABET SERIES
1. AF, GL, MR, ? (a) SX (B)V, (AU, X (D)T,V
2.Al B] CK ? (a) DL (b) DM (c) GH (d) CM
3.GH, JL, NQ, SW, YD, ? (a) ES (b) FJ (c) EL (d) FL
4.DF, GJ, KM, NQ, RT, ? (a) UW (b) YZ (c) XZ (d) UX
5.HS,]Q, LONM ? @1 (b) OP (c) KP (d) PK
6.BA,ED, JI,? ZY (a) op (b) PO (c) PQ (d) QP
7.JE,LH,0L,SQ, ? (a) WV (b) WX (VW (d) XW
TRIPLE ALPHABET SERIES
1. PMT, 00S, NQR, MSQ, ? (a) LUP (b) LVP (c) LVR (d) LWP
2.VPI, ?, ODL, MBO, LAS (a) RHJ (b) SH] (c) SIJ (d) THK
3. BMO, EOQ, HQS, ,? (a)KSU (B)LMN (Q)Sov (D)SOW
4., YEB, WFD, UHG, SKI, ? (a)QOL (B)QGL (C)TOL (D)QNL
5. ABD, DGK, HMS, MTB, SBL, ? (a)ZKU (B)ZKW (C)ZAB (D)XKW
TRICKY QUESTION/NATURALQUESTION
ISMTW,T,F? a) S b) M c)T d) K
2M,V,E,M, J,S? a) K b) T C)N du
3AE1,0,? a)S b) U c)R d)O
40, T, T,F, F)? a) W b)J c)S d) N
5FS,T,FFS,? a)S b) O c)Q d) v
7B,J,ASB,? a) K b) A c)J d) K
8.T,I M R,? a) K b) L c)F d)E
9.J,F, M,A, M, ? a)J b) L c)u d)H
10.M,K,S,J,? a) K b) L c)B d N
PATTERN
Ab ab ab ab ab aba....... Aabb aabb aabb aabb...... Abc bca abc bca abc
Aba aba aba aba aba....... Abcbca cab abcbca cab.....
Abba abba abba abba....... Abc bca cab abc abc bca
CONTINUOUS PATTERN SERIES
1._ _ _aba____ba__ab
(a) abbba (b) abbab (c) babb (d) bbaba
2.ab__ _baa_ _ab__
(a) aaaab (b) aabaa (c) aabab (d) baaba
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3.m_nm_n_an_a_ma_

(a) aamnan (b)ammanm (c) aammnn (d)amammn
4.a_ba_b_b_a_b (a) abaab (b) abbab (c) aabba (d) bbabb
5._stt_tt_tts__

(a) tsts (b) ttst (c) sstt (d) tsst
6,__Op_mo_n____ pnmop _

(a) mnpmon (b) mpnmop (c) mnompn (d) npmon
7. _nmmn__mmnn_mnnm__ (a) nmmn (b) mnnm  (c) nnmm (d) nmnm
8._tu_rt_s_ _ usrtu_ (a) rtusru (b) rsutrr (c) rsurt (d) rsurts
9.ba_cb_b_bab__ (a) acbb (b) bacc (c) bcaa (d) cabb
10. bca_b__aabc_a_ caa (a) acab (b) bcbb (c) cbab  (d)ccab
Other Series
l.aababcabcd................... then find the 50™ letter
2. abbcccdddd eeeee...... then find the 90 letter
3.Aa ABab ABCabc................. then find the 80™ letter
4.Ala AB12ab ABC123abc........then find the 100" letter
4ZYYXXXWWWW........... then find the 75" letter?
aP b.Q cO dM
5. AABABCABCD......... then find 100" letter?
aM bN CJ dE
6.aAbbBBcccCCCddddDDDD......... then find 100" letter?

a.J b.K cj dL
7.aAbbBBcccCCCddddDDDD........ then find 75" letter?
a.l b.i cH d.h
8.1Aal2abAB123abcABC.........then find 100" letter?
aH bh c¢cG d1l

Number series

1 31,29,27,25,23 2. 1,4,7,10,13

3. 1,4,9,16,25 4., 1,2,4,8,16,32

5. 1000,200,40 6. 1000,400,200,80,40

7 3,5,8,13,21,34,55 8. 3,8,15,24,35

9. 8,22,8,28,8 8 10. 2,3,4,2,6 8
11. 6,24,60,120,600 12. 50,30,40,75,170

13. 8,4.5,5.5,9.75,21.5 14. 24,12,12,18,_ 90

15. 7,4,5,9, 52.5,160.5 16. 10,5,5,7.5,15,37.5__
17. 6,9,18,45,135 18.12,12,18,45,180

19. 1,3,3,6,7,9 12,21,

20 15,14,19,11,23,8 5

21. 50,200,100,100,200,50, 25

22. 5,16,49,104, 280

23. 13,19,30,48,75
24, 50,6,45,11,40,16,35,21,30
25. 544,509,474,439

25.  1,5,13,25,41 (51,57,61,63)

26. 2,15,41,80  (111,120,121,132)

27. 5,6,9,15,_ _ 40(26,25,40,45)

28.  1,9,25,49,81, (122,121,132,144)

29. 240, 120,40,10,2(120,240,40,60)
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30.  6,13,25,51,101 (102,202,203,204)
31.  2,12,36,80,150__ (252,152,256,284)
32.  625,125,125,25,  5(5,25,125,625)

33.  3,4,7,7,13,13,21,22,31,34 (41,42,43,44)
34.  3,10,29,66,127__ (164,187,216,218)

35.  24,60,120,210 (300,336,420,525)

36.  24,12,12,18,____ 90(40,36,54,66)

JUMBLED WORD PRACTICE QUESTIONS

The following answers refer to the Jumbled Word Practice questions .

.OPTT A O Akind of vegetable
.OBETL T Drinks container

. T CR O D O Hospital worker
.CROTCUALAL Adding Machine
.RMINOT O View Computer

. L AP E N Air Transport

.G MO AN Akind of fruit
.LSOACMO SR A place of study
.RO TP O INA S ingle helping

10. EP H AR C U S Buy something

O©oOoO~NOoO ol WN -

1.POTATO | 2.BOTTLE |3.DOCTOR 4. CALCULATOR

5. MONITOR

6.PLANE 7.MANGO |8.CLASSROOM |9.PORTION

10.PURCHASE

Assertion and Reason
1. A—When the bus starts, the persons inside it falls forwards
R- The bus pushes the man Forward
A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.

C. Ais true but R is false

D. Ais False but R is true

E. Aand R both are False

2. A-We feel colder on mountain than on plains
R-Temperature decreases with Altitude

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.

C. Ais true but R is false

D. Ais False but R is true

E. A and R both are False

3.A- Inside the earth metals are present in the molten state
R- Earth absorbs the sun Rays.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.

C. Ais true but R is false

D. A is False but R is true

E. A and R both are False

4. A- There is no vaccine for AIDS.

R- The AIDS virus changes its genetic code.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.

C. Ais true but R is false
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D. Ais False but R is true
E. A and R both are False
5. A-Clothes are not washed properly in hard water.

R- Hard water contains many minerals.

A. Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.
C. Ais true but R is false

D. Alis False but R is true

E. Aand R both are False

6. A- Unpolish rice should be eaten

R- Polished rice lacks Vitamin B

A. Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.
C. Ais true but R is false

D. Alis False but R is true

E. A and R both are False

7. A-Glass tumbler breaks in winter when hot water is poured in it.

R-When hot water is poured the outer surface of glass expands.
A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.
C. Ais true but R is false

D. Ais False but R is true

E. A and R both are False

8. A- Cotton is grown in alluvial soil.

R-Alluvial soil is very fertile.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are True but R is not the correct explanation of A.
C. Alis true but R is false
D. Ais False but R is true
E. Aand R both are False

N

o.

Common Sense Test
How many times you can subtract the number 5 from 25?
Is it legal for a man to marry his widow’s sister?

. Two mothers and two daughters were fishing. They managed to catch one big fish, one small fish,

and one fat fish. Since only three fish were caught, how is it possible that they each took home a
fish?

What is the beginning of eternity, the end of time, the beginning of every end, and the end of
every place?

If there are fifteen crows on the fence and the farmer shoots a third of them, how many are left?
Before the Mount Everest was discovered, what was the highest mountain in the world?

Why is it against the law for a man living in North Carolina to be buried in South Carolina?

There are five oranges in a basket. How will distribute the oranges to five people, such that one
orange is still in the basket?
How many birthdays does the average man have?

10. Some months have 31 days; how many have 28?
11. Awoman gives a beggar 1 dollar and 32 cents; the woman is the beggar’s
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sister, but the beggar is not the woman’s brother. How come?
12. Divide 30 by 1/2 and add 10. What is the answer?
13. If there are 3 apples and you take away two, how many do you have?
14. A doctor gives you three pills telling you to take one every half hour.
How long would the pills last?
15. A clerk in the butcher shop is 510" tall. What does he weigh?
16. How many two cent stamps are there in a dozen?
Situation Judgement Test
1. Your maid has invited you to her daughter's wedding .You should
a. Completely ignore her
b. attend the wedding
c. buy a gift for her daughter

d. Congratulate her and make up some excuse for not being able to attend.

2. Your friends like smoking and influence you to do the same. You will
a. smoke only because your friends are smoking.
b. refuse to smoke.
c. smoke but only in their presence.
d. refuse and tell lie to them that you have asthma.
3.when you see a blind man trying to cross the road, you
a. ask someone to help him
b. go and help him
c. wait till he crosses the road
d.ignore and move on
. You have made some silly mistakes which have been pointed out to you. You will
a. Laugh it away.
b. get angry
c. feel miserable
d. feel thankful
. Your friend has not invited you to his marriage party. You will
a. hold it against him
b. attend the ceremony
c. send him your best wishes
d. ignore whole affairs
Verification of Truth
. Atmosphere always has

. Oxygen b. Air c.germs d. Moisture

. A train always has

. Engine b. rails c. Driver d.passengers

. Which of the following an animal always has

. Lungs b. mind c. Heart d. Life
. A Race always has

. Rafree b. Rivals C. price d. Victory

. Which of the following a Drama must have?

. Actor b. Story c. Sets d. Director
. A car always has

. Driver b. Bonnet c. Dickey d. Wheel

. A book always has

. Chapters b. pages C. Contents d. Pictures

. A hill always has
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a. Trees b. pitch c. water d. height
9. Cricket always has

a. Stumps b. Pitch c. Glove d. Bats
10. Milk always contains

a. Sugar b. Fats c. Calcium d. Water

Puzzle questions
Study the following information carefully and answer the given questions

i) B and E are good in Dramatist and Computer Science.
ii) A and B are good in computer Science and physics.
iii) A,D and C are good in physics and history.

iv) C and A are good in Physics,Mathmatics.

v) D and E are good in History and Dramatist.

Q1). Who is good in Physics,History, Dramatist

a.A b.B cC dD

Q2). Who is good in Physics, History, Mathematics but not in Computer Science?

a.A b.B c¢.C d.D

Q3). Who is good in Computer, History and Drama?
a.B b.C cE dD

Q4). Who is good in Physics, Computer, Maths?

a.B b.A D d.C

Q2. Nine cricket fans are watching a match in a Stadium seated in one row , they are J,K,L,M,N,O,P,Q,R . L
is at the right of M and at third place at the right of N. K is at one end of the row. Q is seated between O

and P. O is at the third place at left of K. J is right next to left of O.
Q1. Who is sitting at the centre of the row?

a. | b.J c.O0O d.Q

Q2. Who is at the other end of the row?

a.J b.N c¢.P d.R

Q3. Which of the following statement is true?

a. N is two seats away from J

b. M is at one Extreme end

c. Rand P are neighbors

d. There is one person between Land O

Statement and conclusions
1.All windows are doors. No door is wall

Conclusions:

1. No window is wall

2. No Wall is door

A) Only 1 follows B) Only 2 follows

C) Either 1 or 2 follows D) Both 1 and 2 follow
2.All flowers are toys. Some toys are trees. Some angels are trees
Conclusions:

1. Some angels are toys

2. Some trees are flowers

3. Some flowers are angels

A) None follows B) Only 1 follows
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C) Only 2 follows D) Only 1 and 3 follow

3.Some blankets are beds. Some pillows are blankets. All beds are pillows
Conclusions:

1. Some blankets are pillows

2. Some pillows are beds

3. Some beds are blankets

A) Only either 1 or 2 follows B) Only 1 and either 2 or 3 follows

C) Only 3 and either 1 or 2 follows D) All 1,2 and 3 follow

4.Some blankets are beds. Some pillows are blankets. All beds are pillows
Conclusions:

1. Some blankets are pillows

2. Some pillows are beds

3. Some beds are blankets

A) Only either 1 or 2 follows B) Only 1 and either 2 or 3 follows

C) Only 3 and either 1 or 2 follows D) All 1,2 and 3 follow

5.All snakes are trees. Some trees are roads. All roads are mountains.
Conclusions:

1. Some mountains are snakes

2. Some roads are snakes

3. Some mountains are trees

A) Only 1 follows B) Only 2 follows

C) Only 3 follows D) Both 1 and 2 follow

6.Artists are generally whimsical. Some of them are frustrated. Frustrated people are prone to be drug

addicts.

Based on these statements which of the following conclusions is true?

A) All frustrated people are drug addicts B) Frustrated people are whimsical
C) All drug addicts are artists D) Some artists may be drug addicts

7.Some boys are men. No man is black

Conclusions:

1. Some boys are not black

2. Some men are boys

A) Only 1 follows B) Only 2 follows

C) Either 1 or 2 follows D) Neither 1 nor 2 follows

8.Some mountains are hillocks. Some mountains are rivers. Some mountains are valleys.

Conclusions:

1. All mountains are either hillocks or rivers or valleys
2. No valley is river

3. Some river are valleys

A) None follows B) Only 1 follows

C) Only 2 and 3 followD) Only 3 follows

9.Some hills are rivers. Some rivers are desrets. All desrets are roads.
Conclusions:

1. Some roads are rivers

2. Some roads are hills

3. Some deserts are hills
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A) None follows B) Only 1 follows
C) Only 1 and 2 follows D) All follow
| 1D | 2A | 3D | 4D | 5D 6A 7C 8B 9B

Coding Decoding
. IF TABLE=95 THEN WHAT IS THE CODE FOR EDUCATION,POKHARA,KATHMANDU

. IF NAME =910, GOD=420, GUN=?,HEN=?

. IF COME=315135,NUMBER=1421132518 THEN FIND THE CODE FOR PENCIL,TABLE=?

. IF ROOF=2337 ADB=651 GIVE=0894 THEN WHAT IS CODE FOR VIDEO,DOVE, FIVE?
. IF TOP=UPQ THE WHAT IS CODE FOR HAT.

. [F PEN=ODM THEN FIND THE CODE FOR BIG.

. IF NATURE IS FOR ENATUR THEN DONKEY |S FOR

. TABLE IS FOR GZYOV THEN WHAT IS CODE FOR HORSE

. IF FEMALE IS FOR ELAMEF THEN WHAT IS CODE FOR DISCIPLINE

10. IF GREAT=21597 THEN STARK IS FOR

11. POND IS FOR RSTL THEN KITE IS FOR

12. IF RED IS TO WHITE , WHITE IS TO BLACK, BLACK IS TO BLUE, BLUE IS TO RED THEN WHAT IS THE
COLOR OF THE BLOOD AND SKY

13. IF HORSE IS PIRFT THEN ANKLE IS FOR

14.KINETIC IS FOR TICDKIN THEN MACHINE IS FOR

15. RELATED IS FOR EFUBKDQ THEN RETAINS IS FOR

16. IF RAM IS CODED AS 32 THEN WHAT IS MAN CODE FOR

17.IFRAM IS CODEDASA 1 ,MANISFOR_J .2\ S THEN WHAT IS THE CODE FOR MARN

18. If in a certan language FASHION is coded as FOIHSAN, how is PROBLEM coded in that code?

A) PELBORM B) PRBOELM C) RPBOELM D) RPBOELM
19. If in a certain language CHARCOAL is coded as 45164913 and MORALE is coded as 296137, how are the

following words coded in that language ," REAL"

A) 8519 B) 6713

C) 6513 D) 6719

20.IF "ROSES ARE BLUE" MEANS" ILL PEE DE"

IF "RED FLOWERS" MEANS " SILK HEE"

IF "FLOWERS ARE VEGETABLES" MEANS "PEE NUT HEE"
IF "ROSES GREEN" MEANS "ILL KILL"

THEN FIND THE CODE FOR "ROSES ARE FLOWERS"
21."YOU ARE GOOD " MEANS " PEM LEM TA"
"THEY ARE WELL" MEANS "LEM SE PAR"

"THEY ARE INNOCENT" MEANS "PAR LEM MUG"
"'YOU ARE SICK" MEANS "TA LEM KA"

THEN FIND THE CODE FOR "YOU ARE WELL INNOCENT"
22.IF 5862 =714 3948=1113 THEN 2965=?

23. IF CHAIR=53269, EAR=729 THEN HEAR =? HAIR =?
Extra Questions

1.In a certain code language COMPUTER is written as RFUVQNPC. How will MEDICINE be written in that
code language?

O 00 N O U1 A W N B
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A) MFEDJIOE B) EQOJDEJFM C) MFEJDJOE D) EOJDJEFM

2. If FRIEND is coded as HUMITK, how is CANDLE written in that code ?

A)EDRIRL  B)DCQHQK C)ESIFME D) DEQIQM

3. 1f Z=52 and ACT = 48, then BAT will be equal to

A) 39 B) 41 C) 44 D) 46

4. In a certain code language,

(A) ‘pit na som’ means ‘bring me water’

(B) ‘na jo tod” means ‘water is life’

(C) ‘tub od pit’ means 'give me toy’

(D) ‘jo lin kot” means ‘life and death’

Which of the following represents 'is' in that language ?

A)jo B)na C)tod D)lin

5) If train is called bus, bus is called tractor, tractor is called car, car is called scooter, scooter is called
bicycle, bicycle is called moped, which is used to plough a field ?

A) Train B) Bus C) Tractor D) Car

6) In a certain coding language, iF GO = 32 & SHE = 49 then SOME will be equal to ?
A)56 B)58

C)62 D)64
Arithmetic Reasoning
q. A B T MAThl adAT SHIH! ANTHRA 0 a9 G | dIF a9 el IAEShl FHIH! ANTHA Hid (93T

gz The sum of the present age of Ram , Hari and Gita is 80 years. What was the sum of
their age three years before?

2 90 ST AR Tk ABET eTd HATTHT STHAT Hiq Tk aTd [HATIar s 7

10 people shake hands with each other. How many times will the number of handShake
by all the people?

3 afg g0 a1 Iy gFarE S0 fAve Ay w9 ¥ FaT Il gHEs Fq AT drg 7

If 60 caps dry in 60 minutes then at what time will 5 caps dry?

¥, wars TEA u&desd A9sad g1, COFFEE 359es ferg ¥ MILK A9 969 9 ® &1 &7 7

| need Tea once , Coffee twice but | don't like milk, who am 1?

Y AT T3 faurdiel el Sav a19d ¥ qER Wi g ¥ TAd 9a% JUAT QFFER UdE | TEl 9 S0 JIHE
IAY oG T 930 THER I T A 39 B Fel I 6, |

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts all 60 questions and secures 130 marks, what is the
number of questions he attempted correctly?

% T3l fagrdier qiRer™r 00 ged HfgAT | Y® Fel ATk [QUaT 3 TR 9T g7 He Todd 9aX [GUuAT
0.4 TR UaP | TF AT faardier 00 Y99 g I 300 FFR YT T 9 Hiq J9HH Fel I «UzAl In an
examination, a student scores 2 marks for every correct answer and loses 0.5 mark for
every wrong answer. If he attempts all 200 questions and secures 300 marks, what is the
number of questions he attempted correctly?

\) T3l EEH UBIE T3 &9, T3l B9l NS Tg a9 qs aidbl dr=d Uk &id Mi=d = Jq
qifezaet B = et =ATH ST Fa HEl wET |
Two ducks behind a duck, two ducks in front of a duck, one duck between two ducks are
swimming with a certain composition and find the minimum number of ducks.

3 0 fHaR 3T qaETeHT S famar Y foer =g ¥ aaar ¥faey g a9 SiHerere 9 @i 9T Hid
RIS

If an ant climbs a 20 meter high wall 5 meters during the day and falls 4 meters at night,

how many days will it take for the ant to climb the wall?
Q. R0 THEx el q@iaHT Hier faaar L ey Fgg ¥ 9% foaar =R faey g w9 Sfaamars & @i
I A G ATAT?
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If an ant climbs a 20 meter high wall 5 meters during the day and falls 4 meters the
next day, how many days will it take for the ant to climb the wall?

0.  UIQT AT 5O THEX el @HTHT YiATAe 4 eR =Es ¥ Al (e (T ey 99 &l a1&e Hiq
[H¥eHT @ Tehl THHT IFT?
If a Monkey rises 5 meters per minute on an 80 meter high pole and falls 2 meters in
another minute, in how many minutes will the Monkey reach the top of the pillar?

9. T3ar Al qar 25%« Fig TET aaheHr wia % o Jhg arer?

If each side of a square is increased by 25%, find the percentage change in its

area?

9R. 300 ST 9UH! T3l [haTadT STHAT Fid AFesdhl J&T Iehl g 7

What is the total number of digits in a book of 300 pages?

93. UYR UST WUHT UICT [HATTHT STHAT Hid Abadedh] @ TEhl gra

What is the total number of digits in a book of 552 pages?

1¥. T3Sl THEHT Hie ar@l T HEIT EH S | TSl STHAT TIHIehl T Y& T Gl &Il 300 HU Al JHEHT

STERT i ATET T HET TEhl 7 There are some goats and chickens in one group. If
there are 56 heads and 200 legs, how many goats and chickens are there in that
group?

X, T3 FHEHT e AN ¥ FHGI e S | TS STHAT GETl @7 aIIHH! ey A3 R0 afe  wU &l
THEHT ST I AT@r Tedl gA¢ There are some goats and chickens in one group. If the
total number of legs is 20more than double the number of heads, how many goats are
there in that group?
1%. U3l THEHT Hie s T HEI WH G | A8l STPAT Gelhl T aTIHIhl deay A=l 0d dfg WU &l
THEHT STHAT HIG s w347 There are some goats and chickens in one group. If the
total number of legs is 20more than Thrice the number of heads, how many goats are
there in that group?
1. uw @ d T fasin g IR #ia g fFind the sum of the odd numbers from 1-20.
(®) 900 (@) 40 () 9L (%) &0

iz. 4 3@ 900 FF Srgar ANTRA #id g5 7Find the sum from 1 -100.
() 9009 (@) 4O¥O () 84 (H) ©O

9. TIaT SUST /3 9N Ml TF, 9/ ¥ 90 el 75 ¥ 90 fHax FIel T3 TFeual 9U Sth SUSTHl )T e
HiT grer ?
If a rod is painted 2 /3 parts blue, 1 /4 parts green and 10 meters black, what is the full
length of the rod?
(@) 930 fEX (@) QIR feX (M Q90 MeX (@) 9¥o MR

20. A shepherd had 17 sheep. All but 9 died. How many was he left with

a. Nil b.8 c.9 d. 17

21. A group of 1200 persons consisting of captains and soldiers are travelling in a train. For every 15

Soldiers there is one captain. Find the number of captains in a group?

a.70 b.75 c.80 d.85

22.Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of the small

pieces is twenty gm in weight. If she has seven pieces all together with her then find the weight of original

cake

a. 120gms b. 140gms c. 280gms d. 240 gms
23.Reduction of 40% in the price of bananas would enable a man to obtain 64 more for Rs. 40.

What is the original price per dozen?
FTHT AT ¥0 GIATd TSN T FAAT AMATA & ¥O AT &% G & (a7 Fkg 9 qFhl I FoAA bAehl
el Ol TS erdl

a.Rs.5 b.Rs. 3 c.Rs.2 d.Rs. 4
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Homework
1. In an election between two candidates, one got 55% of the total valid votes, 20%
of the votes were invalid. If the total number of votes was 7500, the number of valid
votes that the other candidate got, was :

a)2700 b)3300 c)3100 d)2500
2. If each side of a square is increased by 30%, find the percentage change in its
area?
a)65 b)69 )96 d)70
3. Today is Varun's birthday. One year, from today he will be twice as old as he was
12 years ago. How old is Varun today ?
a)20 b)25 c)22 d)27
4. A pineapple costs Rs. 7 each. A watermelon costs Rs. 5 each. X spends Rs. 38
on these fruits. The number of pineapples purchased is
a)2 b)3 c)4 d)Datainadequate
5. A woman says, "If you reverse my own age, the figures represent my
husband's age. He is, of course, senior to me and the difference between our ages
Is one-eleventh of their sum." The woman's age is
a)23 years b)34 years c)45 years d)None of the above

Ranking Order

QTH F ASTHT THATE AT T T Afeaaare YUt TAFHT 9O A1 qeeET ser Hia s+ g - Ina line
Ram is in15"position from the front and 45" position from the last then how many people
are there in line?
W fqETAge ATEAHT StedTe Q0 TATTAT ¥ ugIeare AT TATTHT IATHT B AT AT ATGAAT B
faedi wesA 1IN a line of school Ram is in 10th position from the front and 25th position from
the last then how many students are there in line?
3. il HETHT STEAT YO ST faumdl et T | B srmeere e R TATTHT T 7 T@ifeana
=T et A 9a | In a class of Hari there are 50 students . If Hari is in 12th position
from the front then what is the position of Hari from the last?
¥, g g A6 qUhT fqardiged Ardiare Tear A T T JAATE a7 QAT TATTAT T | 9% T
faremdl afverma T e g T T LS el WU W A7 e Fq fqaredt e 1 Among the passed
students Sabin is 26th position from front and 29th position from the last. 16 students did
not attend the exam and 5 students are failed in exam.How many students were there in
class?
Y. %0 ST faemdl TEhr TIaT FETHT Tl TEAT haTehl Slear el T | AT AWeT T I=odH ATTIaTE 9t
AT 9 T IH 9T TSl R ST e WU A7 HwaT Tgfie Hiq Hic ¥ Hid el arad 1n a class of 60
students, the number of girls is double that of boys. If Ram's place is 17th from the highest
and there are 9 girls in front of Ram, how many girls and how many boys are behind Ram?
% 3 T faardt guer Hwemar 79 T & AT a1 FHT: QAT T W AT B T IETRT T ATETS BT
#fq g ¢ In a class of 31 students, Ram and Hari are in 11th and 7th position from Left
respectively. What is their position from right?
9 I ATATETE (9 TITAAT EH G WA VAT Hife ATSTHT TEATATE & AT TATTAT T G | SHTewed! dr=rr
YSTAT T8eT Gl W |1 ATeAH1 i 51 Teal arard | Ram is in 11th position from left while Shyam
is in 9th position from right in the same line. If there are 5 people among them, how many
people are there in that line?
5. 30 ST fqendT TUPT ArgHT faar ararare QU T ET  War rarare qQout T bl o | aay far
FaepT =T U fear s/ 7 ararare #fq @ €A & | In the line of 30 students, Sita is 15th from Left
and Gita is 10th from Right. If Rita was between the two, Then find the position of Rita from right and left.

A)12 and 17 b)18 and 13 c)18 and 12 d)13 and 18
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RAPR X, SrZearasamad@di ga | Sy Z g amsm s | AT P ssara@s g1 | R A &1
g & B P owr e @ g&@e g7 A, P, R, X, S and Z are sitting ina row. S and Z are in
the centre. A and P are at the ends. R is sitting to the left of A. Who is to the right of P ?
A. P B.X C.S D.Z
Q0. | ATATATE 33T TITAAT ¥ X ITATATE 5T TIATTHT TEehT Sl | (G BTl TATT BT T TeaT Gt 2T
TEATHT 98 A= s+ &iq o1 e | Ram is ranked 33rd from Left and Hari is ranked 28th from
Right. If Hari's place is 7th to the right of Ram's place, how many people are there?
Q9379 AT AT TATTAT  TZhT B | BIX ITATATE ¥l TATTAT Il T | ATG BT TITT Ei¥ebT T TwaT
QRAT T IEATHT 95 99 |7 AgHT ST Biq st gt | Ram is ranked 36th from the Left. Hari is
ranked 48th from the right. If Ram'’s place is 12th place to the right of Hari's place, how
many people are there in that line?
9. QRO AT ATl qURT FETHT TS T ITAAH fArgETE ¥ YA WA T | R FAqH famgare et
AT I 99 79 T gt drmr wfq s faardt e 1 In a class of 120 students, Ram ranks 44th
from the highest point. Hari ranks 46th from the lowest point then how many students are
there between Ram and Hari.
Q3. FHT FETHT AW AATING 9330 TATTAT TEHT B T &R ITATAE 9T TITTHT @l T | TG SHIEe Ar=dn
YSTAT AUl 9Q STFAT IAaH faardier der #iq aren?In a class, Ram is ranked 13th from Left and
Hari is ranked 7th from Right. If there are 5students between them, what is the minimum
number of students?
Q¥ T3l ATSTAT b arar 3f@ At AT g ¥ faow qrarsia et T o | afe IHieed! fa=mr 39
AU FFATH F(q ST AT Argaan frarea "iwgar? Ankit is in 9th position in a line from left and
Bhishma is in 7th position from right. If there are 3 students between them, what is the
minimum number of students in the line?
QY. ATSAHT I ATATATS §3T TATHHT ¥ SATH STATATT QO TITTHT &1 B | A(G ITH Iravara qqaft L
TE 9 9ATH ararere Hqat = 9w 1 In a line, Ram is in 13th position from Left and
Shyam is in 17th position from Right. If Ram's position is 11th from Right, then what is
the position of Shyam from Left.
Q% SATSTAT THET ATATATE 4 RAT TATTAT T 9T TS QST TATTHT &1 B | AT ool T qiRaaq T T
ST AT 9T TITAHT 9¢ 9+ THT T 9418 dr=re1 & 51 w2 | In any line, Ramesh is in 12th
position from Left and Shyam is in 17th position from Right. Both of them interchange
their place and Shyam is in 27th position from Right. How many people are there between
Ramesh and Shyam?
99.A B 7 C & rg=aT I B | et A &1 srmfe 5 5= A B &1 &=y 8 st B 7 C &1 &= 15
1 T C 1 ugife 3 ST AU |1 At Se -stfaeea®) #fa s a1 A,B and C are sitting in a
line. Where 5 persons are in front of A , 8 persons are between A and B ,15 persons are
between B and C and 3 persons are behind C . Then how many persons are there in the
line?
i5. 50O YUTieh AUH! FRETAT THA 5O AT Bl R0 FIqNT ATl o HATT e &3 Fqerd T ¥ STt
oo giaerd e 9 drarer @ Haar 2 In the exam of 800 full Marks , Ram scored 80 percent,
Hari scored 90 percent, Gita scored 85 percent, Sita scored 83 percent and 5 students scored
88 percent. What is Sita's position?
1) If you are 10t in queue of a bus, from both ends, how many persons are in the
queue ?
(a)19 (b)20 (c)18 (d)29
2) Arpan’s position is 15t% from right and 14t from left, how many persons are in the
queue ?
(a) 28 (b)29 (c)30 (d)27
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3). Sachina is eight from the left and pabitra is eleventh from the right. When they
exchange their positions, then sachina becomes thirteenth from the left . What will
be pabitra’s position from the right ?

(a) 13 (b)14 (c)16 (d) 15

4).In arow of Boys A is 10t from the left and B is 9t from the right. They interchange
their position and A becomes 15t from the left. Find the number of Boys in that line.
(a) 23 (b)27 (c)28 (d)24

5).In a police row Santosh's position is 17t from the left and sujan’s position is 13t
from the right . If Sabita is between them. What will be the Sabita’s position from
the left ? there are 41 persons in a police row.

(a) 234 (b) 24t™(c) 26t (d)20th

6). In a queue Gopal’s position is 10t from the left and jack’s position is 12 from the
right, 15 persons are between them. Find the total persons are in a queue ?
(a) 38 (b)37 (c)40 (d)30

7). Madan, Manish ,Santosh and Aayush are playing cards, Madan and Manish are
partners Aayush faces toward west and Madan is right of Santosh then who faces
towards south ?

(a) Madan (b) Santosh (cAaayush (d) Manisha

8). In a queue of 42 persons, Mina’s position is 15t from the right then what is the
position of her From the left of the queue ?
(a) 28 (b)25 (c)27 (d)30

9). In an annual exam of class ten,40 students are success 10 students are failed, 7
students are absent and 5 students exam are rusticated. Find the total students of
class ten ?

(a) 40 (b) 58 (c)57 (d)62

11). In a class Ram’s position is 12t position infront of Saroj. Saroj’s position is 15t
from the back. In the class Ram merits is 4t . How many students are there in the
class?

(a) 30 (b)31 (c)32 (d)33

12).Z,Y,X,W,V and U are sitting in a queue .V and U are in the center. Z and Y are at the
ends. X is sitting to the left of Z. who is to the right of Y ?
(@A) Z (b)X (c )W ()Y

13).P,Q,R,S,T,U,V,W are sitting around a round table in the same order, for group
discussion equal distances. Their positions are clockwise. If V sits in the north,
then what will be the position of S ?

(a) East (b) south East (c) south (d) south-west

14). Of the six members of a panel sitting in a row A is to the left of D, but one the right
of E. Cis on the right of F, but is on the left of B. Which two members are sitting in
the middle ?

(a)DandC (b)AandC (cJCandB (d)DandF

Answer Key
1A [2A 3.C 4.a 5A |6.A | 7D |8a|
9.d [10.D [1l.a [12w 13.d |14.D

Page 13 of 60



Direction and Distance (& 7 g%)

QI SR bl @ | 3 e T IR TR AT Fbrg T Bl g g4 IR X T@T Hik HA Fel g IR TR

A=IH ATAT ik W TH FH (g5 afg %A faemAr @@ @ Ram faced to the north. He crosses

some distance and turns right and then crosses some distance and turns right again and after

crossing some distance he turns left at the end. In which direction is Ram from the starting
oint?

g.wmﬁw@mﬂo%ﬁwﬁw#wﬁaﬁzamﬁ%:%sﬁ%@wﬁas@%@ﬁ@

feerrT &7 |

If Ram moves 10 km west and turns right and walks 8 km, in which direction is he from the

starting point?

33 I Tkl g | Al I R0 feilr ufewr faufea feom gvg 9 W sifewt & fewmar g5 ’Ram Faces

towards North direction. If he turns 90° anti clockwise direction , in which direction is

Ram now?
¥ faar aferor aivem feem webal g afe ST 93 feit afe g=1 feemaw gfegH 9 ora 391 & feemT afan

| Sita is facing towards southwest direction. If she turns in a 135-degree clockwise

direction, which direction is she now?
Y. T3er "iive aferor faemar Ifauwr g ) afe S oafe g foem aw 934 fedlt g7y ¥ i afewr faufa faemr

iz0 feit g¥g w1 3 #Afedt &4 feomr g5 | A man is standing in south direction. If he turns
1350 clockwise direction and again turns 1800 Anticlockwise direction then in which
direction is he now?

& . W dAfed IR feumr g 1 3 fEer qeo fed wew #fe qR 9w W o feur ufe ge fewmHr gvg 99 9
Al & [T 87 |

Ram is facing towards North direction . if he turns 180° Straight and crosses some
distance and turns 90° Clockwise direction then which direction is he now?

9 R Y fF M aR=m arg | I IR B ¥ [F AT 688 T B 99 wiE o F M s 99 qwel wWiHae 3
&4 faarsr g5 | Hari walks 5km towards west direction and turns towards north and
walks 4km and turns towards east and walks 8km . In which direction is he now from
the starting point?

c . TWq [P A gF fesz o T A7 o arg | B R T W @ e R T W SR @ W T e
fargame % feemam ¥ &fq @ war g | Ram walks 1km towards east and turns south and
walks 5 km again turns towards east and walks 2km and turns towards north and
walks 9km . in which direction and how far is he from starting point?

2. faar afv= wieusr g | 391 R 6 M g 9 i amr wal ¥ 6 A7 g 9w wifed ¥ s @ wfe o« fE
AT g1 IR Wfed 9= I &4 feemen s 1 Sita is facing towards west . She walks 2km and
turns right and walks 4km. She turns right and walks 5km.In which direction is she
now?

q0. X 1 qg®T Y ¥ 3fequrar 23 | Z # sferorar P g 9 Y @ R feemer Poug

If Y is to the East of X and Z is to the south of X. if P is to the south of Z. then find the
position of P from Y?

9. afe =feor afv=m THH SR &5 | IREH WEEl A% @ 9T Ia¥ sHel &1 faem ag 1if South-west

means North, West means North- East then which direction is the North?

Q. GATEIHT THTHT AW T 9T ATHAATHT qUT R T8 G| A THIAAT THET STAT ST FME T
qUITH A (G Heb? FEMEI T5 § ?Ram and Shyam are talking face to face at sunrise. IF Ram's
Shadow falls in front of Shyam then in which direction is Ram facing and Talking?

93. GARTS THIHT ITH T 9T ATHAATHT U FRIHMT Ta G | 9 GEIAT THHT FAT ATHRT IAT 8T
Th TRl T SATH A G Hehe 1T T 3 | Ram and Shyam are talking face to face at sunset. If
Ram's Shadow falls at the right hand side of Shyam then which direction is Shyam Facing and
talking?
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¥ . TF ATk AR IMAUHT Irsare L 6 /T a0 % arg T 31 Fobrg, At 3 fob 1 fegy &k amm a& «
fF f1 fegm 9 T &9 faom % 9% B | I e fawg 3@ & e g1 A man walks 5km towards
south direction and turns right and walks 3km and again turns towards left and walks
5km. In which direction is he from starting point ? and in which direction is he going?
¥ . Taarer afe HuSTeuHl B | i afgd AR 94 TSaT BiSH (Hie oo aiv=H faorm s@rss 9+ [aer s &
F5aT HUeT g3 % (a9 s@rsen 7 1 he clock is hanging on the wall. If the clock Minute hand
shows the west direction at 9:15 pm, what direction will the hour hand point at 6
o'clock in the morning?

1% . A TSH T ITRT G | qs IART ATER INEA0 G2 Febebl AT IAFT ATAT BT %A (490 dH Febebl
g | Ram is standing with his head down and Legs Up . If his face is facing south

direction, which direction is his left hand shows?
9.8R ITSH o T B | Al ITHT AR I=H a9 Febebl WY IAHI AT BT & (9T Th Febebl

g5 | Hari is standing with his head bowed. If his face is facing West, which direction is
his Right hand facing?

iz . ABCD a9 @ed afawes B | A & wrasd ag B & fewg B o wrerer ar@ C o fewg C o ®rera!
aE D o fewg 1 afe A g9 faem war a9 @ieresl 9¢ D &7 faen wae a@& @fazesr g IABCD are
playing Cards. B picks the card thrown by A, C picks the card thrown by B, D picks
the card thrown by C.IF A faces towards East direction and playing card then in
which direction D faces?

9% . A,B,C,D,E,F,G,H U321 W3S AT FHH B Al E IR=H wbdl AU B FH feom webe S g |

QUESTION
1. A North facing cadet obeys the command “ About turn & walks 10 m. forward then

he turns left & walks 5 m. Now he turns right and walks 10 m. then he walks 5m. to
his right. How far is he from the starting points ?
(a) 20 m North (b) 20 m. South (c) 10 m. North (d) 15 m. South
2. Naresh facing towards the North and after sometimes he turns right and again right
then left. In which direction is he walking ?
(a) East (b) South (c) North (d) West
3. Shantosh K.C. put his timepiece on the table in such and way that at 6 P.M. hour
points to North. In which direction the minute hand will point at 9:15 P.M. ?
(a) South-East (b) South (c) North (d) West
4. One evening before sunset Rekha and Hema were talking to each other face. If
Hema’s shadow was exactly to the right of Rekha, which direction was Rekha facing
?
(a) North (b) South (c)East (d) West
5. Muna is 40 m. South west of Luna. If Juna is 40 m. South-East of Luna, then juna is in
which direction of Muna.
(a) East (b) West (c) North-East 9d) South
6. Some boys are sitting in three rows all facing North such that A is in the middle row.
P is just to the right of A but in the same row. Q is just behind of A while R is in the
North of A. In which direction of Ris Q ?
(a) South (b) South-West (c) North-East (d) South-East
7.From his house, Lokesh went 15 km to the North. Then he turned west and covered 10
km. Then he turned south and covered 5 km. Finally turning to the east, he covered 10 km.
In which direction is he from his house?
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(a) North (b) South- west (c) East (d) West
Distance

To convert km/hr to m/sec then we have to multiply by 1—58

To convert m/sec to km/hr then we have to multiply by %.
s=¢
1. 500m @w=mg SUH Train 10sec AT WIHHAT TEh! AR IR Te 9 el Tiaq #ia 2ram?500m long
train crosses the man standing in platform in 10 sec then find the speed of train?

2. tgar 500m ww=rs wuwr Train 60km/hr &1 Speed #1 & & | 1500 m W &1 1000 ma
wewH IR T &g q9g @wmsar: The length of a Train is 500m and the speed is 60km/hr. How
long does it take to cross 1000m platform which is 1500m far .

3. ©ger 500m @w=rg quar @ 60km/hr 1 speed T F3# @ 99 1500 M TR @R GFET IR TH i
Twa @ 7 The length of a train is 500m and the speed of train is 60km/hr. How long does it
take to cross the pole which is 1500m far?

4. t3ar 100m F&me 9usl Train 200m @#=Ts U 99 cross T 15sec @Wmss w9 Train #1 Speed
Fid g’ 100m long train  crosses 200m  bridge in 15second then find the speed of a
train?

5. tger 300m «@wamg wuwr Train 60km/hr @1 Speed &1 30 Sec AT UIAT ¥ IR e A qogehl ¥ Te
a1 @¥mserd | The speed of a train is 60km/hr and the length is 300m. if it crosses the
tunnel in 30sec then find the length of a tunnel?

6. T3er fagrdf 2 1/ka/hr ® speed AT TEA &1 6min fear Ty @ F&r 3 3km/hr &1 speed =1
TRt 9T 10min fEdr qvam w9 o) T T Sr=rehl R Ol S e |

7. The distance between two cities A & B is 330km. A Train Starts From A at 8am and
travels towards B at 60km/hr . Another train Starts from B at 9am towards A at 75km/hr.
At what time do they meet?

8.Two Trains A &B starts at the same time from Delhi and Patna respectively towards each
other and met after 16hrs. If the distance between Delhi to Patna is 1872km and B trains
runs 27km/hrFaster than Train A. Then find the speed of Train A?

9. A train running at the speed of 84km/hr passed man walking in opposite direction at the
speed of 6km/hr in 4 sec. what is the length of train?

10. A train of 150m long is travelling with a speed of 36km/hr. If the man in cycling in the
direction of train at 9km/hr. Then the time taken by train to pass the man is

Data Interpretation

AT AMGD AT

Y¥000 g

H Rent

H Miscellenous
Saving

B Fooding

Education
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TRATST ¥Y fafag ¥y RIS G101 o) faremr 90
F)TTAA @TATHT AT RT1eqrAT o gfaera ser @« ey

What percentage Ram spends more on education than on food?
a. 6% b. 25% c.33-%  d.300%

W) T aAq AT @ETHT Hia &9ar g¢r @+ 1 How much more money does Ram spend on food
than on savings?

a.3600 b.4500 c.45000 d.5000

) @ % A Fq gfqera @= T What percentage of total income is spent on food?
a.50%b.25%c.20% d.55%

)T TR T Hi AT G 7

How much is Ram's annual savings?

a. 72000 b.108000 ¢.96000 d. 9000

T)ERATST ¥ @M ¥ HiedTRl w1 @+ & g What is the total cost of rent and food for 4
months?

a. 81000 b.8100 ¢.88000 d.9000

=) A FA RTTHRAT aRER @ T

Which titles cost the same?

a. T=q ¥ fafay b. w=aTeT T fafae C. @TT ¥ fare d. &7 uft greA
Given below is the table which shows the total students in 4 different classes and
percentage of students participating in Dance and Play.

Classes Total students %of Students participating
Dance Play

VI 500 15 8

VIl 400 10 6

VIII 360 25 10

IX 250 10 12

1. What is the ratio of Students participating in Dance from class VII and IX together to
the students participating in play from Class VI and Class VIl together?

a.43:53 b.65:76 c.44:57 d.63:71 e.62:77
2. What is the average of students in play from all the classes

a.32.5 b.34.5 c.27.5d.35.5e.30.5
3. Students who are participating in dance from class VIl are what percentage more or
less than students who are participating in play from class IX.

2.122%  514-% <33 % al6-% 660 %
4. What is the sum of students who do not participate in dance and play from class VI
and IX together?

a.720b. 480c. 620d. 580e. None
5. If 20% Students who participate in dance from class VI also participate in play then
Find the students from class VI who participate only in Dance to Students participate
only in Play.

a.25:16 b.16:25 c.19:20 d.20:19 e.12:5
6.Students participating in dance from class VIl is what percentage of Students
participating in Play from class IX?

a.133§% b.33§% c. 120%% d.114§% e.116§%
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Homework

1. Production of paper (in lakh tonnes) by three companies X, Y and Z over the years. Study the
graph and answer the questions that follow.

&0

50

Wil

0

Cuantity in Lakh Tones

1936 1997 1908 1909 2000

Years

1. What is the difference between the production of company Z in 1998 and company Y in
19967

A. 2,00,000 tons B. 20,00,000 tons C. 20,000 tons D. 2,00,00,000 tons

2. What is the ratio of the average production of company X in the period 1998-2000 to
the average production of company Y in the same period?

A 1:1 B. 15:17 C. 23:25 D. 27:29
3. What is the percentage increase in the production of company Y from 1996 to 19997
A. 30% B. 45% C.50% D. 60%
4. 4. The average production for five years was maximum for which company?
A X B.Y C.Xand Y both D. X and z both
I R

9. @ .5 T W0 UrHH FIrd Hid g ¢ What is the ratio of 1 kg to 250 gm?
3. 4,8,X,12 uraHr 9T X &0 |iF 9ar @rse¥ | Find the value of X in the ratio 4, 8, X, 12.
3 4,X ¥ 9 =y quIaTa |9 X H |9 91l S erd |
Find the value of X if 4,X,9 are in Continuous proportion
¥.if a:b =3:4 b:C=7:9 then find a:b:c
.ifa:b =3:4 b:C=5: 7 then find a:c
4. if a:b=2:3 b:c=6:9 C:d=5:7 then find a:d and a:b:c:d
%. ¥ W0 @Tg 2:3:5 #T Furqar srg{erd IDivide 250 in the ratio 2:3:5.
9. % 729t 4:5 & FquraHr argdar@ Divide Rs. 72 in the ratio 4:5.
5. U3dT [aamaad Tl AUH %0 fauardies 7 953 W1 #eles et 94 M ddraes Ia1 amsded | In a
School of 260 students there are 182 boys then find the given ratio.

® Ferew T gvu faeardies (Boys and total students)

g Feree ¥ U fqardiee  (Girls and Total Students)

T Fares ¥ Hdee (Boys and Girls)
Q. STH T GRTHI IHIH! AT 5:2 @ | GRIH IHR 14 a9 9T ol I# &id 21’ The ratio of father
and son is 5:2.If son is 14years old then find the age of Father.
90. U3l [T @Skl AR ATSRAST ¥ [a¥ehe 6:4 1 AaraHT dArfear | a1 120 fiar arsiel damar 9+
ST idqaer fawhe @l a7 Bread and biscuits were distributed in the ratio of 6: 4 for
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lunch at a school. If 120 pieces of bread were needed, how many biscuits would be

needed?

9. TSI FRIATHT §00 FYAT B | STAT FUATHIEY T Febrepl w91l 3:4:12 B 9 I ShICTHT i 2947

FHiddal Hiex T Fiadaer @l wHl e | There is 600 rupees in a bag. The ratio of rupee, 50 paisa

and 25 paisa is 3: 4: 12.Find the number of Rupees , 50paisa and 25paisa .

TIT WRISATHT ILTFTOTAT ¥ L TATehT faaeprebr oot 1: 2 : 3.5 1 Afs ShISET STHAT 30 94T T8l AT Y

TTeRT faeepTer TEm T ersel  In a bag, there are coins of 25 p, 10 p and 5 p in the ratio

of 1:2:3.If there is Rs. 30 in all, how many 5 p coins are there?

2. AT B &1 g Al Aqara 2:1 @ 1 Y a9 qie A 7 B # A Aqara 3:2 g3 9 [qHewe et

GIESERIEAIERGR]

The ratio of present age of A and B is 2:1.After Syears their ratio will be 3:2 then find the

present age of A and B.

93. AT B &1 acA™ A aqard 9:10 g | =R a9 ufg SAewd! g dard 11:12 97 A # ETeed Ay

ESICRICH N

The ratio of present age of A and B is 9:10 . After 4years their age ratio will be 11:12 then

find the present age of A.

1¥. 90 v gfgdr arel ¥ BRI IHH A 3:1 ot | Qo Ay 9l =g T FRIB IHH AT 5:3 |

BTelehl GRT ¥ ATkl IR a1 @vrser« 110years ago the ratio of father and son was 3:1.After 10

years their age ratio will be 5:3. Then find their present age.

¥.¥ Y qfedr Fad ¥ faaads argsw aara 3:4 B | € av afg IHesdr SHYw aqara 14:17 &g

gl BTAhl IHY Il TS84

4years ago the ratio age of Kamal and Bimal was 3:4. After 6 years their age ratio will be

14:17 then find their present age.

&R a9 ufgel a1 SR JHIPT & TOM 207 | 45 9 dieg ATl IHX BRIBT I UM geg W BTeAehl a1 T

BRI IHT 91 «W3-erd | Two years ago, father was six times as his son's age. After 18 years,

the age of the father will be twice that of the son and find the present age of father and

son.

9. A< B & 3reexk B & Chl (R @9 & SIFAT {50 @ AUE 9 Toddhel hidq Hiq ThH @ TS |

Y. %0 fefex AT 39 T Irirepl AT 2:1 & | g9 ¥ 9rreel oqara 1:2 a3+ &q feex 91 9o e 7

Ratio & Proportion

1. TS FHASTHT HUHT el T bdlebl AqITd 7 : 8 & | AT %al T Hdll AU HHT: 20% and 10% « 3iz

AT 7t ¥ #iaq g3 ‘The ratio of the number of boys and girls in a college is 7 : 8. If the

percentage increase in the number of boys and girls be 20% and 10% respectively, what will be
the new ratio?

A 8:9 B. 17:18C.21:22 D.Cannot be determined
2. a T GAAH! qAqaR AT 2:3 G | Aid IN@eH goAbl qAel T ¥000 o Fig gar 7t aqura 40:57
g W GRS dodd Hid B

Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is increased by Rs. 4000, the new
ratio becomes 40 : 57. What is Sumit's salary?
A. Rs.17,000 B.Rs. 20,000 C.Rs.25,500 D.Rs.38,000

3. If0.75:x::5:8, then x is equal to:
A1.12 B.1.2 C.1.25 D.1.30

4, AT F&ATH ARTERA %5 G | AlG dfedl T €0 F&rel dara 2:3 T I€E0 T J90 Gl o 5:8 w9y
TGN G Hi BT

The sum of three numbers is 98. If the ratio of the first to second is 2 :3 and that of the second to the

third is 5 : 8, then the second number is:
A. 20 B. 30 C. 48 D. 58
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5.782%%WW@E:E:ZWWWﬁWWWW
If Rs. 782 be divided into three parts, proportional to %: g:z , then the first part is:
A. Rs. 182 B. Rs.190 C. Rs. 196 D. Rs.204

6. A?B@WWFW‘{OQI?T&IAH%%WBﬁ%WWWWBWWWﬁ'&TW?

A and B together have Rs. 1210. If %ofA's amount is equal to %of B's amount, how

much amount does B have?
A. Rs. 460 B. Rs.484 C. Rs. 550 D. Rs.664
7. 3% TeReE a9r qver w1 wA 20% T 50% dfe W@ S 99 A g8 ARRE! FTd 99 S aerd |
Two numbers are respectively 20% and 50% more than a third number. The ratio of
the two numbers is:
A 2:5 B. 3:5 C. 4:5 D. 6:7
8. A,B,C,D @ 5:2:4: 3% Jquradr e ¥&H argdg A C & D ww=r1 9000 3@ 98y 94 B «
T FUAT ATIAT?
A sum of money is to be distributed among A, B, C, D in the proportionof 5:2:4: 3. If
C gets Rs. 1000 more than D, what is B's share?
A. Rs. 500 B. Rs. 1500 C. Rs.2000 D. None of these
9. wrerwr Mathematics, Physics and Biology#t @il seatese! squra 5:7 : 8 sl g | afg 41
seatg® wa: 40%,50% ¥ 75% < Fig T g=E T AT dig AUHT seatd AT i BT
Seats for Mathematics, Physics and Biology in a school are in the ratio 5: 7 : 8. There is
a proposal to increase these seats by 40%, 50% and 75% respectively. What will be
the ratio of increased seats?
A 2:3:4 B. 6:7:8 C. 6:8:9 D. None of
these
10. so fex M=vmT gg T Il J AT 2:1 8 | g9 T qWreRl A9 1:2 SArs9 Fq ey 9T 9o e 7
In a mixture 60 litres, the ratio of milk and water 2 : 1. If this ratio is to be 1: 2, then
the quanity of water to be further added is:
A. 20 litres B. 30 litres C. 40 litres D. 60 litres
11. afs &7 Femsr 40% = s g5 [qerge T aRrer 9u qfedr T I6T TeTdl AT Hia gra
If 40% of a number is equal to two-third of another number, what is the ratio of first
number to the second number?

A.2:5 B.3:7 C. 5:3 D. 7:3

12. dsiter @enr 5, 8, 15 IHMurasr 9 =il T qu7 RS He e |

The fourth proportional to 5, 8, 15 is:
A. 18 B. 24 C. 19 D. 20

13. 32 @erms oqard 3 : 5@ | 3l g4 Feare & uareHr qut gl dqara 12:23 g 9 9 e
T SR |

Two number are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in
the ratio 12 : 23. The smaller number is:

A. 27 B. 33 C. 49 D. 55
14.53 o= fo=1 wfeqr =m¥a ¥ R0 99 aeAfd =Ha &9 AaTaHT HErser 9 T T T 9R T 7

At what ratio of 63 per kg jeera masino rice to 90 per kg Basmati rice should be added
so, the mixed rice becomes RS 72 per kg.

15. ¥ 3% 9iq [@e¥ TIH1 FA ATIITAT IHT HATTHT TR Ao 91q fdear ¥ R g7 | & AIIaHT ST
qTHT THETSET . HedHT o=a1 % Y0 AT =3¢ TSl SHAT &% fder 39 Wahl @ | |1 gHare & fder 39
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fepTer 9% ferex 9T afteg T F@T AT 99 g2 SIET SEATCHT A1 SHAT Hiq e g Hid faax arrel fasqor
gre?

e gfaeaTn SEeE

1 1 1 1

20 16 8 5

gfaeTaeTE T TEeR

50% 25% 60%
[WHAAAATE T TEee =

a)0.5 0)0.25 )0.125  d)0.7

T g T R TR e R

1 11 2 3

2 12 7 4

gfqerd percentage

1. T HEATHT %0 ST el T ¥ 0% hic AT STFAT i [T grar?( If there are 240
boys and 40% girls in a class, how many students are there?)

2. FAWHI ST Ro % o Jig T&T ATBAAT i Td9d Il g | What is the
percentage increase in area when the square length increases by 20%?

33T AT § 0 % of FF IGT aehl ABAHT i TTqLrdel HIH ASAT? What is the
percentage reduction in the area of the square when the side of the square is reduced by
10%?

4, TITHRT AFTS T ATSTS A L0 % T R0 % o Flag TET SAATART &THAAT FHid TTaerda
g § | What is the percentage increase in the area of rectangle when the length and
width of the rectangle are increased by 10% and 20% respectively.

5. TEHIIEI A3 Y %o Tl gaT L&FT STl @9 HIAH 9 TLRIDI GITHAT FHid %
aH TIﬁQTﬁ ? When the price of vegetables goes up by 25%, what percentage of vegetable
consumption should be reduced to maintain the same cost as in the beginning?G.Wlﬁ?ﬁ
TS R0 % o HEQT L& STTxleh @d HIAH 9 ALRHI GATHT Fd % Fheg TTAT ?When
the price of vegetables decreases by 20%, what is the percentage increase in the
consumption of vegetables to maintain the same cost as in the beginning?

7. Woo 3fhd HeT WUHI AT R0 % Te TR 14 % FATE ART IhT Hod Hld v ?
What is the paid price of 15% VAT after 20% discount on a shirt with a Marked price of Rs.
5007

8.  Fel TSl TAHEAT Rooo0 F | TATHI® L0 % T XA Jig FUHAT 3 TH Tyl
SEEAT Fid gla1? A village has a population of 2,000. And if it grows at an annual rate of
10%, what will be the population after 3 years?

9. %00 ﬁg“%ﬁ%‘l‘%ﬁ‘w%ﬁ0.?ﬁ@ﬁﬂﬁﬁﬁﬁgr_&?wmtisSO%oftwothirds
of 600, one quarter of 0.2?

10. <o I AMATE T Lo &I 30 %I Feah HId g= ? What is the difference between
three quarters of 80 and 30% of 807?

Home Work

1.AFT TAF B il TA AGT R0 % F&l I | B I doAd A il TAT A=l Hid % FH greg ?
2.AFT TAS B HI 9eaT Y % FH T | BAT dd A FIHwaT FHid ITa9qd Tl geeg?

3.% oo HT Ro % IT Hld g ?
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4.% Qoo HT FHid TIALT AT TG % %0 g ?

5.%THT R0 %IT T ¥ o T ?

Profit and Loss

gfe CP feuz SP feress wosm

gfq SP fguz CP et w=HT

FrEarad AT [/ AT giaerd

2. 2 0 oHT AT 22 % ATHT T I=a] ﬁ.ﬂ Fid gl<1? What is the selling price when
you buy at 900 and sell at 12% profit?

2. %oo HT AT Y o %ATHT Y I=aT &9 &ld FIAT? What is the S.P. when you buy at
600 and sell at 50% profit?

3. Zoo T FRAT 2000 AT I=aT A % ATH g a? What is the percentage of profit
when you buy at 800 and sells at 10007

X, boo {T FoRAT ¥ 24 AT I=aT &fd % AT gl What is the loss if you buy at 500
and sell at 425?

W. el TECH A ¥ Yoo TATFAN 4% AU F.7 Ffd grar? If the value of an item is
4500 and the loss is 25%, Find the C.P?

%.  ¥ooo HT oheehl ATHIT TH o LATHATE, < 0 % ATHIHT I= | 9ATHA ZRATE 30%
ATFTTHT o= | S FUATE £ 0 Y% ATHIHT oI5 A Hel T GTHTT HIAHT Thelehl BIaT?
Ram sells the goods bought for Rs 4,000 to Shyam at 20% profit. Shyam sells Hari at a loss
of 30%. If Hari sells Krish at 10% profit, at what rate did Krish buy the goods?

9.  Yooo T EHEwI ATHTT THT LATHATE R 0 % ATHT 9= | $ATHA giaTs 30%
ATRTAT 958, | gIel THTATS ¥ 0 % ATHETTHT oo, qe THI 91 THTT HIGHT fheehl greiid |
Ram sells the goods bought for Rs 5,000 to Shyam at a profit of 20%. Shyam sells Hari at
30% profit. Hari sells it to Rama at a loss of 40%. How much did Rama buy the goods?

. ARA T FT TG 0% ATHAT B ATE 958, | BA CATS L0 % ATHMAT I%5 | TCAD
ATS 2 0 %ATHIH a5 | T(X C A D TS W2 & AT =] WU A & |T ATHTT Ffd F4ITHT e
T 1%@ | If A sells an item to B at 20% profit. B sells C at 10% profit. And C sells D at 10%
profit. If C had sold to D at 726, how much would A have bought the goods for?

%.  FATE] AW BATS Lo % ATHMAT B CATs 4% HTETHT ,C A D ATE R0 % ATHHT
I=&T DT C AT 9 R4 ¥ o TAUAT A & Ffa FITHT @G T graT? A sells B at 10% profit, B
sells C at 5% loss, C sells D at 20% profit, D pays to C 12540, At what price does A buy the
goods?

90, THF IHAN W40 HT I=aT 4% ATH! FHTSS A F(d T AT =T 2 0 % ATHT FHATIAT?
A shopkeeper earns 25% profit if he sells at 250, at what price he has to sell to earn 20%
profit.

99. T AT oo AT I=&T R 0% ATH g AT AT A& < 0 % HTETHT J=aT (9.9 FHld g |
An item is sold at 600 to get 20% profit,if the item is sold at 20% loss then find the selling
price.

9R. Qo THT 23 FNIIA Fohi¥ & FIATHT U FNTTA o=l ATHT AT AT %3h1d gaT? What
is the profit or loss %of buying 12 lemons for Rs 10 and selling 5 lemons for Rs 6?

93. TH ATRAA ¢ 2 F4ITHT ¢4 Ifvaer @fie T 9 SUATHT 2 o Ufrdot a=e o AT
% ﬁ?ﬂﬁ_@'ﬁ | If a person buys 15 pencils for 12 rupees and sells 20 pencils for 14
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rupees, calculate the loss percentage.

14. %+ =% 930 A fFY & QU0 AT I=aT Fq faerd wrear & ¢

If an item was purchased for RS 120 and was sold for Rs. 150. Find the profit percentage?
15. 39 ¥ 9540 | AR a7 Y Yo THRT FHTAT 9 TH IT AR F SIITHT fehelepl 2 7

Ram sold his work tools for Rs. 1850 and earned a profit of 25% . At what price did Ram
buy his tools?

Homework

1. Uger Mfchel T3er ufg & 3¥00 H =27 Y. YoATdd WAl A9 Bl FUATHT 91 =g =l 9u W % ATRT
FHTSA T 7

2. WA HT ATHT LY AT F=a7 90 %0 FTHT g7 A T ATH 5 Tl AT Hid Y% ATRT g faai?
3.T3aT A T3aT 9 10 % Araar=ar a=a7 | i 39 a1 ¢ ¥ 140 afear s=rel v Iqars 4% AR g
4% STSHT TUFT bacteria T fHaeHT I grad 2631 Aveare 28 3f fiqe gar
bacteria Ff TTaerae i grad Marede ™

5. 9TETHT ITAT0T g 975 TS+ AT geg , 19Tl 870 S+ ATUL 7 Tfqeraer el Al
AT Qs i gra?

6. 73T HTHHA & Lo oo HT hig A [ohed[ T THRAT & o ATHI g ML =&l STFaT
ThH % % 000 WIAT W i AT =(e fohedl 7

7. 03T FATITI T AATSH R FIETATSRA G1La T d=al 19 % ATHT {oral ST &
3% 00 TTUF A ST HIETHTSHA FHITHT [helehl gIaAT?

Average

q. gfe«r 4o Odd numbers #I Average f&reaq |

3. gfgar @4 Odd Numbers %1 Average A&zl

3. gfedr o Even Numbers %1 Average ezl

¥. qfedr 900 Even numbers #1 Average M@z

4. The average of first 60 odd natural numbers

%.Find the average of first 99 even numbers.

v Find the average of first 4 natural numbers.

5. The average of first 100 natural numbers.

2. ufgell AR AT Y FEATHT AT &3 &1 A9 qiedr T Afwqw Fearsr on wiq en I the average of
the first 5 consecutive numbers is 63, what is the product of the first and last number?

qO0. U<l SNIIAR TS fasiik e Fad 993 &1 99 9wiles Helsl a9l a1 e &4 &1 | The average of
the five consecutive odd numbers is 113, which is the second smallest of them.

Q9. AR AT SR TATH! AET 09 G A AT AN T Tl TeaT el F@ITHN ANH qebreli T he
average of the six consecutive even numbers is 207 then find the sum of the smallest and
biggest numbers.

QR. AR AT @ faoiR Feamert e 3999 21 9 dfewr ¥ Femes draa #fq aer?|f the average of 7
consecutive odd numbers is 2117, what is the average of the first 4 numbers?

9321 AT T ToATT ATEd FJHY L0 qY G | AT ATHTH! AT I8 30 a9 g ¥ ¥ FRIGRIF! A9 I & a9
B 99 BT el draa Y fa arar The present average age of Grand father and Grand mother
is 50years. The present average age of Father and Mother is 30years and the average age of
4 children is 6 years then find the present average age of all?

9% T T YATHERT AET Y 0 a9 @ | fqar T ATl A& ST ¥ a9 & | 3 T=erehl AGd I Q0 99 WU
bl HGd U H(T BT

The average age of Ram and Shyam is 80years. The average age of Sita and Gita is 45 years
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and the average of three children is 10 years then find the average age of all family.

Q4.0 HTIT TEATH AT 30 B | UST T 53 JCTITH] AT ¥3 WX [gaTd TRTH W63 99 9qF d9q
Fq Erer?

The average of 20 numbers is 30. What is the correct average if a number 83 is calculated
by writing 43 by mistake?

9%. 90 faurdier i SHY UaT T | T freqehepl IHR IET 99 Tl AET SHR 5 &5 9 RTeTeh Bl
EECIREE T

The average age of 10 students is 15 years. If one teacher joins then the average age

becomes 18 years. Find the age of Teacher.

Q. Yo ST faarfiT Sied wo AT B | Afg § A7 w4t faurdt afruar SHEeET TUhr FATET dHa F Y9
T3 9 7t fendier #fq sar e g

Average money of 50 students is Rs 50. If 1 new student joins then the new average
becomes 51. Find the amount which brings by new students.

9z. R0 ST fqeamdiET Faq 30 w9aT g | Afg q S Tt furdt aftrear SHEeET wuwr FArE ded € 3%
T8 99 T4t faurdier #fq F9ar e g

Average money of 20 students is 30. If a new students joins the new average becomes 29.
Then find the amount which brings by new students.

19.F Fareed! FEd THT QU AT B T IAEEH SHCH AT 3:5:7 WH G | AT IHIET HABT FoIHAT
gl HaThl JHY IAT TS 9]

The average age of three boys is 15 years and their ages are in proportion 3:5:7. What is the
age in years of the youngest boy?

A.15B.9 C.18 D.21

20.4 a9 gfgar foare el #fm ¥ ofmfaer SHRer d@rad =3 av foar | afeer ofmme, $fwdy T s draq
JHY R0 Y G | 99 ETAH T=dAThl IHT TAT NS |

The average age of a husband and a wife is 23 years when they were married five years ago
but now the average age of the husband, wife and child is 20 years.\What is the present age
of the child?

A.lyear B.2years C.3years D.4years

Homework
1. fpba @aar qfgdr 90 SHTHT AT T T 3.% I 53 T 989 T FA(fep ¥O SHIAT Hiel I W TG
?In the first 10 over's of a cricket game, the run rate was only 3.2. What should be the run
rate in the remaining 40 over's to reach the target of 282 runs?
A) 6.25 B) 6.5 C) 6.75 D)7
2. T3 IRERHAT BSRIAT, EVXSATHT, FAT,ATHT T A AFTATGAT LT S | ERIAT T SRIATHR A IHR &9
Y WH G | TATATHTD! AT IAR X 95 WHl G T A AFT IAR &99 Rl G | I ITRERbT
HAT I T TSR
A family consists of two grandparents, two parents and three grand children. The average
age of the grandparents is 67 years, that of the parents is 35 years and that of the grand
children is 6 years. What is the average age of the family ?

A) 28% years B) 31% years C) 32% years D) None of the above

3. A oy gfeer a2t T o d SR 9 a9 R | Siwdy ¥ aeme Y 9y afedrer staa SR
R0 ¥ Rt 9 afeer S #fa SRR e ?

The average age of husband, wife and their child 3 years ago was 27 years and that of wife
and the child 5 years ago was 20 years the present age of the husband is?
A) 35 years B) 40 years C) 50 years D) None of these

4. A B ,C & &r@q dr ¥4 .57 3 1 afs A ¥ B #1 dga dre ¥o &5 T B ¥ C &#1 drad drer ¥3 &S

Page 24 of 60


javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)

9T B @1 de o TSR |
The average weight of A,B and C is 45 kg. If the average weight of A and B be 40kg and
that of B and C be 43kg. Then the weight of B is.
A)17kg B)20kg C) 26kg D) 31kg
5.USaT TEAHTATH ATSAAR ATATHT 40 AT AN AT T Sk [GFHT SATAT 90 AT ATISA |
FiT ATZTAIR a1 HigdT % ¥ 30 faqer Afgan qq &1 wfearar uid a7 ared AnTel dEd e o
IR |
A library has an average of 510 visitors on Sunday and 240 on others days. The average
number of visitors per day in a months of 30 days beginning with a Sunday is.
A) 250 B) 276 C) 280 D) 285
Time and Work
9. T Fel 1A Qo TaAHT QT T | 38 o &7 19 ¢4, G\ T @ 1 9+ g9 foett |97 w7
Fa faaT 9 FFA 1( Ram can completes a work in 10 days. Shyam can complete the
same work in 15 days, in how many days both of them can complete the work?)
2. T Fiel FTH & TRAHT 27 T T g |7 T o FaaHT T2 1% | 3T &7 FTH T4 44
o Tee 9= A ST ffer |1 wr wa fRAHT FwsE | Ram completes a work in 9
days and Hari completes the same work in 10 days. If Shyam takes 15 days to do the same
work, in how many days will they complete the work together?
3. AT B AT o 18 4 T T e B ¥C et A1 & 92 RAam QU iga 1 CT A

o=t a7 T8 R0 [&HHT T T 99 A B ¥ C Tfer a7 & &fq famaT Fshsar | Aand B
can complete the work in 15 days while B and C can complete the the same work in 12days
and C and A can complete the work in 20 days. In how many days A,B,C take to complete
the work? A tarer I1 & #iq fawr @ T+ ey

B wacer A1 #rH Hd fETAT W T awmy

C Tord &1 HTH H( fGTH T R/ I Iy

4A T Tl FH ¢ GAHT OO0 T | B of AT FH 9 24 & A3 A o FIH 9% TS T 3
o afe@Te A T B THTr 19 9 ITea 9« il 19 Fid a7 GrRuar 1A can complete
the work in 12 days and B can complete the work in 15 days. A starts the work and after 3
days ,A and B together do the work . in How many days the rest of the work will be
completed by A and B together?

5. ABTCHAFHM: ], Qo T ¢y TaAHT T FTH 9 TaFa | BT C o HIH & T T 2 faT iy

IS AT FhT FTT T A TT5 FHfd 9897 Aa1? A B and C can do a work in 9,10 and 15
days respectively. If B and C start work and leave after 2 days, how long will it take A to do
the rest of the work?

6. A TB o Tl FIH HH: R0 T 3o [IAHT T TG | Tl HIH L& TL qL B o FHIH Hoh 4
fae 3ETTfe =re=T 9 97 19 & fo7y7 wfFuar? A and B can do any work in 20 and 30
days respectively. Both of them started work but if B left 5 days before the end of the work,
in how many days will the work be completed?

7. A,B T C o el FTH HHA:RY, 33 T ¥ fadaT 7 T | A1 ST 70 L& WL ATA T
fae T Tafey Bl T B of TH Giehd & &7 AT el 9 |7 0 Hid [QTAT Aihuar?
A, B, C complete a task in 24, 32 and 64 days respectively. All three of them started
working but A left after working for 6 days and B left 6 days before the end of the work.
How many days will the work be completed?
8. A ,B,C dsiier urgy U3l cATSMT SSM URUH! B | A, B qrgyensens a1 adrgl 99 FAA 07 30 A
Aarg ¥ C drgvars &1 wiRusr aangl @it 9 wo fade ey gt dMeTer qgd @Il Atgmr 9 e
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TATST HIq THIAT ARTHAT!

Three pipes A,B and C are connected in a tank . A and B pipes can fill the tank in 20
minutes and 30 minutes respectively but C pipe can empty the full tank in 40 minutes .if
three pipes are opened together in the empty tank . At what time the tank will be filled?

9. P, Q,R uRraTs T TATT 9 AT 90,207 30 °UI g, P a1 T THT g1 ¥ Q T R aRT Tebedih
guarHT @ 2atgt Hia gwaar wiwer? Three taps P,Q and R can fill a tank in 10,20 and 30hours
respectively. If P is open all the time and Q and R are open for one hour each alternately,
then the tank will be full in :

a)20 days b)l5days c)25days d)35days

10.. A ¥ B el & ™ 9o fewar B ¥ C o &1 & % faqwr ¥ C ¥ A el &1 W 3% fad@r @1 9 gesm
a7 A B ¥ C o &1 %W &iq faar w1 @7 A and B can do a piece of work in 18days,B and C in
24 days,C and A in 36 days. In how many days A,B,C can do the work if they work
together?

a)8days  b)l6days c)9days d)18days

11. AT B &I g3 IUIT &1H T AT Tt &1 Y TmT 15 9 g ffer 1 & &t faqer =
qFAT? A is twice as efficient as B . If A can complete the work in 5 days .In how many
days both A and B together can complete the work?

12. A & B T g% IO W 9 943 | afe A T B T & F 30 faTHT T g A9 A Ul AT HH BT
THEAT @1 19 @4 1A IS twice as efficient as B and both of them together can complete the
work in 30 days. In how many days can A alone complete it?

13. A B 9T 0% dfe erHara gEfe A o I &\ T QU @7 ey 99 A ¥ B gafEel @1 #rH #id
FHIHT FEATA?
A is 60% more efficient than B. In how many days will A and B working together complete
a piece of work which A alone takes 15 days to finish?
14. A < & F19 9% &9 R TS5 | A FT JAATHT B F K0 % SATET HIH TG 9 AT FH B i fawwr
a7 A can do a piece of Work in 16 days. B is 60% more efficient than A. In how many
days B alone can complete the work ?
a)20 days Db)30days c)40days d)10days

15.9300 faqurErer «mi €0 fader @ & | 94 &7 i 200 [FuTErd Sey TTAT dlebl @raT aichl [aTared i
T famars qwan
There is provision of food in fort for 1200 soldiers for 60 days. After 15 days, 200 soldiers
leave the fort. Remaining food will last for how many days?
16. qro0 faurérrr @Rt <o famar @mr & | 94 faF ufg 300 fqurer afywAr =it @rer fearérer @Rl wid
feere qra
There is provision of food in fort for 1200 soldiers for 60 days. After 15 days, 300 soldiers
joins the camp. Remaining food will last for how many days?
17. 90 fqardier @rf so feqer @mr g 1 o famufy #fe faardt aftu v @it @ qo fom erma afear ao
afuerT faerdier e M@reta@ (There is food for 120 students for 60 days. After 20 days some
new students joins and the remaining food finished 10 days earlier then find the number of
new Students .
18. A,B and C can do a work in 11, 20 and 55 days respectively . How soon the work be
completed if A is assisted by B and C on alternate days.A B ¥ C & &%+ ™ ¥ : 99,30 T ¥
femraT 1 9 I | afs A g B 7 C o dehieash [GAT TednT AT HTH Hiq THAAT AfHTAT!
19. A, B and C can do a work in 20,30 and 60 days respectively. In how many days A can do
the complete work if he is assisted by B and C on every 3 days.
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A B T C o & %9 FHM : 20,30 ¥ %0 fad®@T 7 19 Tz | afg Aamg B 7 C o ek q9r faq geamT
TRYT TH Hid GHTHT lpTAT?

20. 12 men or 18 women can do a job in 14 days. The number of days in which 8 men and
16 women work together can do it? 93 T T2 a1 95 =T AiegdATel & HTH ¥ fGTqr T q9q afE
ST T¥9 T 4% AT AlEeTer T BTH TAT TT BT F{q THIHT AIETAT?

21. If one man or two women or 3 boys can do a job in 44 days. Then the same job can be
done by 1 man 1woman and 1 boy in ....days.Ts AT @9 a7 I AiEdT a1 3797 halel B HTH ¥¥
faT T IRT 9 FFSA AT ST GEW,4SAT AfgAr T ST shal el A1 P FIq THRIAAT QT e ?

22. 10 men working 6 hrs a day can complete a work in 18 days. How many hours a day
must 15 men work to complete the same work in 12 days.q0SHT AT & TUITHT TR FH FH
15 fad®T T ITH FHgA 9 Q4 ST AT HiT TUSTRT a3l HTH &I Al FH R [GTH T R T a1 |

23. Aman engaged 10 labourers to make 320 toys in 5 days. After 3 days he found that only
120 toys were made. How many additional labourers should he engage to finish the work
on time? T AT =ATIiRer 0 W1 FHAReTs YIETHT 330 YA TAR T AT AR FHIEeSl IfaTHT ST
QR0 GAMT JIR TR T T GeAAT THIT TATGA H( FEIR T TeAT 7

Inserting the Missing Character. 5.
1. 167 | 854 | 313
| 5 |12 |?
. 142 | 710 | 213’
2676 a)6 b)8 ¢)100 d)10
445 6 6.
88| 21 6 8 18
7 |9 3
(a) 18739 (b) 18732 (c) 19700 (d) 20205 -
2 . 228 | 309 | ?
: 51 a)351 b)54 ¢)384 d)174
7.
19 91 1 7 9
2 |14 |2
15 32
1 3 |105 117
a)9 b)10 c)12 d)13
(@) 20 (b)23 (c)60 (d)56 8.
3. 2 |5 [10
2 ¥ 6 17 |26 |?
25 (121
2 50 |65 |82
7 6. 256 5
7 a)38 b)37 ¢)39 d)40
(a) 169 (b) 196 (c) 144 (d) 225 9.
4, 9
4 ]2
8
4 |2 |5 c
23 51 |77 |38
4964 | 169
)3 b)a 95 )6 a)5 b)2 c)4 d)3
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10.
52 31| 66|42

79 7?7 |17 |74

48 | 69 | 34 | 58

2173|8326

a)25 b)26 )27 d)28

11.
IE\T/BU 162\(/40 45@8/2?
s 8 ?
a)12 b)18 )9 d)6
a
5

12.
a
4

a)25 b)37 c)41 d)47

13.

58 7 i 4 4] 5
j j9 7 5
7 : & ! 9 )

a)115 b)130 c)135 d)140

a)41 b)64 c)35 d)61

14.

a)13 b)14 c)12 d)15

16.

a)4 b)32 )8 d)16

17.

Y 3\(9 lYS
20 a0 ?

a)20 b)26 )25 d)75

18.

26| 2|

a)2 b)4 )8 d)6

19.
5/ 15 \6 6/ 1 N7 /?\
4 5 10

a)22 b)14 )32 d)320

a)7 b)6 )8 d)9

a)36 b)48 )38 d)30
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22.
21 31 39>/4E|
52 85

a)92 b)72 )62 d)99

16 a3

23.Which one will replace the question mark ?

1 3 1
3 5 2 4 0 @ 2
4 5] g
A.660 B.670 c.610 d.690

0dd man out
1).3,5,11,14,17,21
A.21 B.17 C14 D.3
2).8, 27, 64,100, 125, 216, 343
A.27 B.100 C.125 D.343

5). Choose the word which is different from the rest.

24,

E 1 0
A C B
D G ?

25.
A B B
C E (0]
D F ?
a. X b.Z c.T d.Y
3).10, 25, 45, 54, 60, 75, 80
A.10 B.45 C.54 D.75

4).2,5,10,17, 26, 37,50, 64
A50 B.26 C37 D.64

I.  A.Chicken B. Snake C. Swan D. Crocodile E. Frog
. A. Kiwi B. Eagle C.Emu D. Ostrich
. A.Sparrow  B.Swan C. Parrot D. Crow
IV.  A.Physics B. Chemistry C. Geography D. Botany E. Zoology
V. A.Trunk B. Tree C. Fruit D. Leaf E. Flower
VI.  A.Mercury B. Mars C. Earth D. Jupiter E. Neptune
VII.  A. Eyes B. Ears C. Hands D. Legs E. Nose

Extra Questions
0dd man out
a. Gold, Silver, Bronze, Iron

b. Yen, Dollar,Taka,Kg

c. January,lJuly, December, April

d. Parrot, Bat, sparrow,crow

e. curd, butter,cheese, oil
f.cheetah,Lion,Bear,Tiger

g. Football, volleyball, cricket, chess, Hockey
h.1,3,5,7,9,11,17

i.144,168,196,256

j-15,21,24,28,30

Figure Classification
Choose the figure which is different from the rest

1.

Nz 71=| |

m @ @ @ 6

ﬁ+ @ +@+ Ej' %

<
m @ @& @ O

2| | Bigy (B

d.T
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ORANEIE UC[OCE racia

C N3 uly 3JNule 3
1 @ 3 @ 6

1 2y (3 4y (5

(M (2 3 4y (39 ®®®®®

Mm@ @ @ (©

m @ @ @ 6

Figure Series

PROBLEM FIGURE ANSWER FIGURE
1.
T S A AN z N AN

A B C D 1 2 3 4

2.

o\ ® ang Vangha! | /d ng
~ (SE] &S |H|E|F
A B C D 1 2 3 4 5

3
A A|lV_V v A \v/ AlA A A
Ol ? X X [X | XK | X
A AV v \"4 A A
A B C D 1 2 3 4 5
4,
o—O|0— <t O— [O—o| —> |O0—>| —o
?
g o1 _IE_IO 0; -T> DE_ o |
A B C D 1 2 3 4 5
5,
o) — o l[e)
1 0 0 e, A TaN

A B C D 1 2 3 4 5

6. Select a figure from amongst the Answer Figures which will continue the same series as established by

the five Problem Figures.
Problem Figures: Answer Figures:

SIS (SIS

Ay By (C) (D) (E) (1 (2 3 4) (5
a.?2 b.3 c.5 d.1
7.
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Froblem Figures: Answer Figures:
AN XXX A
5 N [+ P T b P ¥ v %

@ B € O & 0 @ E) 4 ()

a.?2 b.3 c.4 d.l

8.

Froblem Figures: Answer Figures:

\ N N o gl s = -
SHRRE SRR E RN

Ay By (€ Oy B (y (2 (3 (4) (3
a.?2 b.5 c.4 d.l

9.

Problem Figures: Answer Figures:

o|@®|a|A|-e||E|@|A]|[F]O]

10.

Problem Figures: Answer Figures:

AHG|IB DX B H|®®

A B © O & M @ 6 @4 6

a.l b5 c.3 d.4

Analogy Test
Analogy
a. 36:324::49......... (441,440,449,450)

b.15:220::25......... (625, 620,615,610)
€.24:126::48.......(343, 344,349,243)
d.122:145::226......(255, 257,245,260)
e.6415:5304::7896......... (6785,6775,8786,6985)
f. AG:10::EK........ (MS,MK,MJ,ML)
g. CAT:DDY::BIG......... (DLL,CLL,CML,CDD)
1.
Analogy

1.CUP:LIP:BIRD:?

A.BUSH B.GRASS C.FOREST D.BEAK
2.Paw : Cat :: Hoof : ?

A. Lamb B. Elephant  C. Lion D. Horse
3.REASON : SFBTPO :: THINK : ?

A.SGHMJ B.UIJOL C.UHNKI D.UJKPM
4.Conference : Chairman :: Newspaper : ?

A. Reporter B .Distributor C. Printer D .Editor
5.College : Student :: Hospital : ?

A. Nurse B. Doctor C. Treatment D. Patient
6.ZRYQ : KCJB :: PWOV : ?
A.GBHA B.ISIT C.ELDK D.EOFP

7.AEF) : KOPT :: ? : QUVZ
A.GKLP B.GLKP C.HKLP D.HKQL
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8. DLOC:ECI::TOH:?

a)TOH b)tea C)COPY d)AET
9.MO:1315::HJ:?

A.1917 B.18 16 C.810 D.16 18
10)3:12::5:?

A25 B.35 C30 D.15
11) MXN: 13 x 14 :: FXR:?

A.14 x 15 B.5x17 C6x18 D.7x19
12.4:19::7:?
A52 B.49 C(C.28 D.68
13.144:10::169:?

Al14 B.11 C.13 D.12
14.68:130:?:350

A.220 B.224 C.222 D.226
15.27:125::64:?

A.162 B.216 C.517 D.273
16. Glove: Hand

A. Neck: Collar B. Tie : Shirt  C. Socks : Feet D. Coat : Pocket
17. Letter: Word

A. Page: Book B .Product: Factory C. Club: People D .Home work: School
18. Rectangle: Pentagon

A. Side: Angle B. Diagonal: Perimeter C. Triangle: Rectangle D . Circle: Square

19. Thermometer: Temperature
A. Millimeter: Scale B. Length: Breadth  C. Solar Energy : Sun D.Cardiograph : Heart rate
20. Reading' is related to 'knowledge' in the same way as 'Work' is related to:
A. Money B. Employment C. Experience D. Engagement
21. 'College’ is related to 'Teachers' in the same way as 'Hospital' is related to:
A. Doctors B. Patients C. Medicine D. Beds
22. 'Flower' is related to 'Bud’ in the same way as 'Fruit' is related to:
A.Seed B.Tree C.Flower D.Stem
23. 'Walk' is related to 'Run' in the same way as 'Breeze' is related to:
A.Cold B.Dust C.WindD.Air
24. 'Smoke' is related to 'Pollution’ in the same way as 'War' is related to:

A. Victory B. Treaty C. Defeat D. Destruction
25. 'Dogs' is related to 'Bark’ in the same way as 'Goats' is related to:
A. Bleat B.Crow C.Grunt D. Howl

Figure Analogy

D@4l 2| [la]A [k [la [l
(A) (B) (Cy (D) (1) (2) (3) (4) (o)
2.

A 2] Y AA
(A) (B) () (D) (1) (2) (3) () 9)
3.

SO 2 Ol
A B C D (a) (b) (9] (d)
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(d)

()

(b)

DI | 2 R

(a)

O\A |G

(a)

(d)

(c)

(b)

SEIEE

@OD?

@DD@CD@@@C

C@ ?
(C)

A

(4)

(2)

(D)

(B)

(d)

(c)

(b)

(a)

S B

(d)

(c)

(b)

(a)

(d)

(c)

(b)

()

N e

o

N

/A\|I

(d)

()

(b)

(@)

0| BB |¢

(a)

(d)

B (AN

(a)

(c)

(b)

= =" E

I/

10.

11.

8|89 7

12.

NIk

13.

(d)

HODE

(c)

(b)

(d)

ODIS[D

(a)

O]

(b)

(a)

YOS -

14.

X[Q=X

(d)

(c)

(b)
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15.

EIESES R P EIEIES

A B C D (a) (b) (0 (d)
16.

el 10| 2 v ] oy | o}

(A)  (B) (<) (D) (1) (2) (3) (4) (2)

Matrix figure
1.Select a suitable figure from the four alternatives that would complete the figure matrix.

AN !

| 2
XX

(1) (23 (3) (4)
Al B2 C3 D4
2. Select a suitable figure from the four alternatives that would complete the figure matrix.

TS

AN

=] o

|| ?
0 |

(1) (2 (3) (4)

Al B2 C3 D4
3. Select a suitable figure from the four alternatives that would complete the figure matrix

Iy .
$| 9| &

& | o2

[

-
L

St

|-o |-o o

(1) (2) (3) (4)
Al B2 C3 D4
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4. Select a suitable figure from the four alternatives that would complete the figure matrix.

S
H | |&D

(1) (2 (3) (4)

Al B2 C3 D4
5. Select a suitable figure from the four alternatives that would complete the figure matrix.

DS

— 'S

/4

rT.@

(1) (2 (3) (4)
Al B2 C3 D4
6. Select a suitable figure from the four alternatives that would complete the figure matrix.

OB

(1) (2) (3) (4)
Al B2 C3 D4

7. Select a suitable figure from the four alternatives that would complete the figure matrix.

ANZ

PR
S]]

7 % Ul

(1) (2 (3) (4)
Al B2 C3 D4
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8.Select a suitable figure from the four alternatives that would complete the figure matrix.
Qo oo |Qooo

® |(oo |om

I:I:lD::?

||:|:|:|:|C‘g:u¢n ®@g

(1) (2 (3 @
Al B2 C3 D4
9. Select a suitable figure from the four alternatives that would complete the figure matrix.

&I X[ %

Nl
F| | 2
k|2 %

(1) (2 (3) @
Al B2 C3 D4
. Select a suitable figure from the four alternatives that would complete the figure matrix.

A |-o-
Q |
- 2

e b be!

(1) (2) (3) (4
Al B.2 C3 D4
Grouping Identical Figure

1. Group the given figures into three classes using each figure only once.

[
o

o |4 |0

5| DA
IJ4_ EI]r\E

A.14,;23;56
B.15;26;4,3
C.16,;23;45
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2. Group the given figures into three classes using each figure only once.

FEIC
DA

CH®A
ool @)

7

1,3,9:25,6;4,7,8
1,39:2,78:4,5,6
1,2,4:3,5,7:;6,8,9

1,3,6;2,48;5,7,9
3. Group the given figures into three classes using each figure only once.

2O QON
AT v

A.
B.
C.
D.

A.789,;243;15,6
B. 13,2;45,7,6,89
C.16,8;34,7;259
D

.16,9,;34,7;258
4. Group the given figures into three classes using each figure only once.

XIV =
ZIXIT
7 gﬂ F]
A.123:456;7,89
B.1,35;2,46;7,89
C.159:3,6,2:4,7,8
D.19,7;285:;3,4,6
5. Group the given figures into three classes using each figure only once.
<> =\
1 2 ]
4 5 6
7 B g
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o0 w>»

6. Group the given figures into three classes using each figure only once.

1,4,7;25,8;3,6,9
1,4,7;25,9;3,6,7
134,;25,8;6,7,9
. 1,23;456;7,8,9

O
9| A
A

‘a0 wl>

o0 w»

7. Group the given figures into three classes using each figure only once.

15/7;2,4,6;3,9,8
157;2,48;3,6,9
1,4,7;25,8;3,6,9
. 1,79;358;24,6

-

4

A

o)
D

]
X

© O = >

8. Group the given figures into three classes using each figure only once.

. 1,26;34,7;5
13;2,6,;4,5,7
1,2,6,7;3;45
13;2,45;6,7

B @
OIS

iel
D
—

ri 5]

O o0 w2

1,25,3,7,8;4,6,9
1,72;3,9,6,;4,5,8
2,3,8,4,6,9;1,57
569;341;2,7.8
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9. Group the given figures into three classes using each figure only once.

SIA1S
S =lA

[
=

DA

7 8 9
2,4,7;189;3,5,6
2,6,9;15,7;3,4,8
2,6,7;15.8;3,4,9

D. 2,8,7;15,9;3,4,6
10. Group the given figures into three classes using each figure only once.

SIA

1 2

Q
J] 415
[

o w >

[ ]| A

7 8
1,35;2,6,9;4,7,8
2,34;56,8;9,17
1,35;2,6,8;4,79

3,24,6,58;79,1

Rule Detection
Choose the set of figures which follows the given rule.
1.Rule: Closed figures losing their sides and open figures gaining their sides.

oo w?>

(1) '@
)
)

A

(2)

(3) =\

@
®,
o

(4)

glojele
BIRIGID

.8

a.l b.2 c.3 d.4
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2. Choose the set of figures which follows the given rule.
Rule: Any figure can be traced by a single unbroken line without retracting.

(1)

(2)

(3)

(4)

a.l

3.Choose the set of figures which follows the given rule.

RN RN

MIEZ|NE

b.2

c.3

> [ [B] B>

Rule: Closed figures gradually become open and open figures gradually become closed.

(1)

(2)

©

T]

D

©

)
D)

Q)

)

@) lLJIl( I‘O |

(4)

a.l

4.Choose the set of figures which follows the given rule.

%)

1

L]

©

b.2

c.3

d.4

Rule: Closed figures become more and more open and open figures become more and more
closed.

(1)

(2)

(3)

(4)

a.l

N\

/6

L

¥ [T][B] [

YLD

=
>

/o
o
D
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5. Choose the set of figures which follows the given rule.
Rule: Closed figures become more and more open and open figures become more and more

closed.

(1)
C

AlA

:2} @

2 B

ey
\3}

@)

@

@) |/ A

CIE
@@
/

/A |/A

i,

N

a.l b.2

| 1.C

A
c.3 d.4
2.B

| 3.C

4.A

| 5.8

MIRROR- IMAGES

Mirror—Image: The image of an object, as seen in a mirror, is called its mirror reflection or mirror

image.

In such an image, the right side of the object appears on the left side and vice—versa. A mirror—image
is therefore said to be laterally inverted and the phenomenon is called Lateral Inversion.

MIRROR-IMAGES OF CAPITAL LETTERS

Letters Mirror Letters Mirror Letters Mirror

Images Images Images
A A J L S e
B a K > | T T
C 9 L .| U U
D a M M Vv \Y4
E e N %1 W W
F ke o O A %
o | o el
H . Q 9}[’ ) i
I I R

Remarks:

The letters which have their mirror images identical to the letter itself are:

AHI,MO,T,UV,W,XY

Examples: Mirror images of certain words are given below:
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FUN : MUA

STOP : q90Te
ZEBRA ; AAEdAX
GOLKONDA ; AAVO2J00
XYLOPHONE : HMOHIO0JdY X
Exercise 1

Find the mirror image of
Find the mirror image of WHITE .

() LIHW (b) ALIHM

(c) dTIHW (d) ETIHW

Find the mirror image of BRISK.

(a) JIs1dd (b) J2IRd
(c) keldad (d) Ae144
Find the mirror image of PAINTED.

(a) d4T NIAd (b) AATUIAD
(c) dd.LMIA] (d) AETUIAG
Find the mirror image of NATIONAL

(8) JAUOIL AV (b) JAVIOITAU
(c) JANOITAN (d) LANOITAN
Find the mirror image of SUPERVISOR

(a) s021vga9ue (b) 2NLEBAIROK
(©) B20Nb2EKIA (d) 2NbEBAIORE
Find the mirror image of JUDGEMENT.

(8 TNEMEGDU!J (b) TMIAMA GAUL
(c) TMaMIodUL (d) luaoaMmuT
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7. Find the mirror image of QUALITY.

(8 ONVIILA (b) YTILAUO

(c) YTIIAUQ (d) YTIIANO
8. Find the mirror image of TERMINATE.

(8) TASIMIMATH (b) ATAVI WSAT

(c) dTAMIMAAT (d) ETAMIMSIAT
9. Find the mirror image of FIXING.

(8) GNIXIF (L)AI XTIV D

c) DUIXF (d) DUIXIA
10. Find the mirror image of MALAYALAM.

(a)MALAYALAM (b) MAJAYALAM

(c) NVTYAVLVIN (d) MATAYAT AM
MIRROR IMAGE EXERCISE -1
ANSWER SHEET

1.C 2.D 3.B 4.B 5.A 6.C 7.C 8.C 9.0 10.B
WATER IMAGES

Water image: The reflection of an object, as seen in water, is called its water image. It is the inverted
image obtained by turning the object upside down.

EXERCISE - 2

Find the mirror image of figure (X).

NINER N R
(x) (a) (b) (c) (d)
2.
DD
(X) () (b) (c) (d)
N AREN S
(X) () (b) (c) (d)
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(d)

(©)

(b)

(a)

9| 0|@|8

(d)

(©)

(b)

(a)

(x)

(x)

(d)

(©)

(b)

(@)

(x)

(d)

()

(b)

()

9] |©QdS

5. @

A4 AV]TA

(d)

(©)

(b)

(a)

(x)

1" Uls| @ |s
Bl &z | &2

O %
Be|Df| 82| | 8 1
BFIOPL & PP 8PS

~17° yl= =
GE(OE 8 FlAPL e
| O & =] =] 8 J=|4
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14,

MW | Z WM (WM
(x) (a) ()  (c

EXERCISE -2 ANSWER SHEET
1D [2B [3B [4C |5B |6A [7A [8C |9B |10B |
11.C [12.8 [13A [148B

Dice
Which symbol will be on the face opposite to the face with symbol * ?
o o * $
B e . + £ + a +
@’$’+’8

Two positions of dice are shown below. How many points will appear on the opposite to the

face containing 5 points?
1,2,3,4

Which digit will appear on the face opposite to the face with number 4?

2 ]

3,451

Two positions of a dice are shown below. Which number will appear on the face opposite to
2 3

the face with the number 5?

2,3,4,6

How many points will be on the face opposite to in face which contains 2 points?
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The figure given on the left hand side in each of the following questions is folded to form a
box. Choose from the alternatives (1), (2), (3) and (4) the boxes that is similar to the box
formed.

(1) (2) (3 (4

A. 2and3only B. 1,3and4only
C. 2and4only D. 1and4only
%D@@J@
(1] (21 (3 (4

A. 1,2and 4only B. 3and4only
C. 1and2only D. 1,2and3only

I (1) (2) (3} (4)
A. 1and3only B. 2and4only
C. 2and3only D. 1,2,3and4

=
oIl

A. land 2 only B. 2and 3only

C. 1,2,3and4 D. 2and4only
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am T
1) 2] (3 (4}

4
A. 1land2only B. 2and4only
C. 2and3only D. 1and4only
ANALYTICAL REASONING

1.Straight line 2. Rectangle 3. Square 4. Triangle 5. Pentagons

/N =

N = Number of Cutting Points N = Number of Cutting Points
(n+1)%-1 4n-3 4n

N = Number of Cutting Points N = Number of Triangle N = Number of Lines

nn+1)
2

N = Number of gaps

Example 1
What is the number of straight line in the given figure ?
A B C

H — D

T E (a) 10 (b) 12 (c) 14 (d) 15
Solution

Clearly in this figure:

There are 3 horizontal lines homely AC ,HD and GE

There are 3 vertical lines homely AG,BF and CE

There are 6 slanting lines homely AD.GD,CG,AE,CD and ED
Thus there are 3+3+6=12 straight lines in all

Hence, the answer is (B).
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Example 2.
Count the number of squares in the following figure.

(@) 15 (b) 20 (c) 14 (d) 12
Solution.

There are 3 horizontal humber 1,2,3 or square

There are 3 vertical humber 1,2,3 or square

Then, at this situation we can use following formula

12422432 =144+9 = 14 thus, answer is (C)

Example 3.
How many rectangle are there in the given figure ?

(a) 30 (b) 34 () 35 (d) 36

Solution.

There are 3 horizontal number 1,2,3 or number of row

There are 3 vertical number 1,2,3 or number of column.

That’s why the are of rectangle (A) =Lxb

L =142+3=6,B=1+2+3 =6, A =LXb =6X6 = 36,Thus answer is (D)

Example 4.

How many pentagons are there in the given figure
A B C

D D
EF© ()12 (b) 14 (c) 16 (d0 10
Solution.

The simplest pentagons are

EGHBD,ACHFD,AEFHC,CGFDB,DFHCB,FHBAD,HBDEF,BDFGH,AEFHC,EGCBD,GCADF and HCADF thus

answer is (A)

ANALYTICAL REASONING
What is the number of straight lines in the following figure
1.

(a) 16 (b) 17 (c) 18 (d) 19
2.

(a) 11 (b) 14 (c)16 (d017
3.

(@) 9 (b)11 (c)12 (d)16
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b

(a) 13 (b) 15 ()17 (d) 19

5.Find the number of Traingles.

(a) 4 ()5 ()6 (d)7

o

(a) 5 (b)6 (c)8 )d) 10
7.
(a) 16 (b) 13 (c)9 (d) 7
8.

(a) 15 (b)16 (c) 17 (d)18
9,

(a) 8 (b) 10 () 12 (d) 14
10.

(a) 11 (b) 13 (c) 15 (d) 17

11.

€

(a) 16 (b) 22 (c) 28 (d) 32

(a) 36 (b) 40 (c) 44 (d) 48
13,

i

(a) 16 (b) 18 (c) 14 (d) 15
14,

=2

(a) 12 (b) 18 (c) 22 (d) 26
15.

&

(a) 21 (b) 23 ()25 (d)27
16.

(a) 8 (b) 10 (c) 12 (d) 14
17.

&

(@) 22 (b) 24 (c) 26 (d) 28
18.

&

(a) 27 (b) 25 (c) 23 (d) 21
19,

(a) 10 (b) 19 (c)21 (d) 23
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20.

(a) 12 (b) 13 () 14 (d) 15
21.

(a) 8 (b) 10 (¢) 11 (d) 12
22.

(a) 18 (b) 20 (c) 28 (d) 34
23.

(a) 18 (b) 10 (c)24 (d)27
24.

/N

(a)11 (B)13 (C)15 (D)17
25.

(a) 16 (b) 18 (c)19 (d)21
26.

o
>

(a)10 (b)12 (c) 14 (d) 16
27.

(a) 20 (b) 24 ()28 (d)32

28.

(a) 23 (b)27 (c)29 (d) 30

29.

(a) 28 (b)32 (c)36 (d)40
30.

A\

()10 (b)8 ()4 (d)6
31.

T\

(@) 4 (b)6 (c)8 (d)10
32.

()8 (b) 10 (c)12 (d)6
33,

(@) 20 (b) 16 () 24 (d) 22

34.

AR

() 9 (b)10 (c)11 (d) 12
35,

()15 (b)16 (c)14 (d)25
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36.

v

(a) 40 (b) 35 (c)30 (d)42

37.

Answer Sheet

yARRE R\
(a) 12 (b) 14 (c) 16 (d) 18
38.

(a) 28 (b) 20 (c) 40 (d) 6

1.b 2.b 3.c 4.a 5.b 6.d 7.a 8.c 9.c 10.c
11.c| 12.b 13.b 14.b 15.a 16.d 17.d 18. a 19.c 20.d
21.c | 22.c 23.c 24.c 25.d 26.c 27.c 28.c 29.c 30.c
31.b | 32.a 33.c 34.a 35.a 36.b 37.a 38.a

Venn Diagrams

1. If one item belongs to the class of second 2. If one item belong to the class of second and the
but third item is entirely different from two third item is partly related to these two the
the venn diagram is shown as below diagram is shown as below.
B C
OO ap
Eg:Fish , Whale, Crocodile Eg: women, mother, Engineers
3. If two separate items belongs to the class of | 4. If given three items are partly related to each other
third .They are represented by two disjoint they are represented as below
circle inside a bigger circle as below v‘g
©Jo)] O,
®
Eg: Boys, Chess player, Student
Eg: Family, Father, Mother
5. If the two items are partly related to the 6.1f two itemsbelongs to the class of third such that
third but are in dependent of each other some items of each of these two group are common
they are represented by three indersecting relationship, then the venn diageam is represented
circlesin a line
QD
Q) C
Eg: School, Boys, Girls Eg: Women, Mother, Widow
7. 8.If the items belongs to the different 8. If one item belong to the class of second and the

groups, we repress the Venn diagram as
below

PO

Eg: (a) Man (b) Cat (c) Fish

seers belongs to the class of third. Then we
represent the Venn diagram in the form of three

consent circles as veils.
C

Eg : Year, month, week
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9. If one item belongs to the class of second 10. If two item are partly related to each others are
and the third item is party related to the the item is entirely different from the two. We
second, they are represented as below repo resent the condition as below.

: (DO
' A B C
Eg: Mother, Doctor, Child
Eg: mother, Femals, Children
Exercise
Famlly,W|fe husband 9. House, Bedroom, Bathroom
50 2 QoD ©
Q
A B C D

2. Asia,NepaI, Janakpur 10. Hospital,Nurse, Patient

80@ 9 5° @ “O
A B C D A B C D
3. Human,Animal, Tree 11. Mother, Women, Child
: N 5 l:c £
A B C D
4. Furniture,bed, Chair 12. Authors, Teachers, men
O ap© &
3° (@ O
A B C D
! ’ ) | biles, Cars, Motorcycle
13. Aut es
5. Family,Mother, Daughter utomo lo’ ’ VO
90 Q@ o ©
O A B C D
& B ¢ 2 14. Smokers ,Lawyers , Non Smokers
6. =R, A, AU
O N O ao @ CO
O A B C D
A B C D 15. Perennialsources of water, River, Canal
7. lJeep,Truck, Vehicle O O @
9 a0 @ e
16. Girl, Student, Athletes
A B C D
8. Men,Uncles, Father

9 c°c@ ™0

A B C D
17. Tennis Fans, Cricket players, Students

@ & Ofwpow
A B C D




18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

Flowers, Clothes White

A B C D
Smokes, Lowers, Non smokers
A B C D
Human beings, Teachers, Graduate
O O
O
A B C D
Males, Father, Lawers
A B C D
Nepies, Chinese , American
O 5 O
O
A B C D
Musicians, Men, Women
A B C D
Atmosphere,Nitrogen, Oxygen
Q O
50 (@ “O
A B C D
Vegetable,Food, Carrot
A B C D
Truck,Goods, Ship
A B C D
Oxygen,Air, Water
A B C D
Mineral,iron, Copper
O O
5° (@ “O
A B C D

Fruit,Pear, Grass

5° @ O
A B C D
30. Hen,Dog, Cat

9 0°@ "0
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Venn Diagrams: Answer Sheet

L 2. D ASIA
wife husband Janakpur NEPAL
—family
3.
Human—Q Q_ Tree 4. A
Bed Chair
O—Animal £ Furniture
5 Eami
. amil
y 6. |D .
Mother Daughter —rq
O— @folwez
7. A . 8. C Men
enicle
Jee Uncles
p Tflick Father
> H iy Hospital
ouse
Bedroom Bathroom Nurse Patient
11. Mother 12. | C | Author Teachers
Women
Child — Men
13.
_ Automobile 14 B Smokers Non smokers
Col Motorcycle
Lawers
15 river 16 C Gll’l Student
——  Perennial
O sources of water | Athetes
—canal
17. Table tennis fan Cricket players 18. | B Flowers Cloths
— Students [
White
19. smokers Non smokers 20. Human beings
Teachers Gradute

Lowers
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21. | D Male

22. | B Neplies—O O—Chinese
Father
Q—American
_ Lawers

23. | A Men Women 24. | A
Nitrogen Oxygen
— Atmosphere

Musician

25. | B Food
\egetable

26. | A | Truck Ship
Carrot

Goods

27. | C Oxygen Air 28. | A
Iron Copper
— Water —Mineral

29. | D y 30. | B Hen_O O_Dog

— Fruit

(O—Grass Q_ Cat

In each of the following questions, select a figure from amongst the four alternatives, which when
placed in the blank space of figure (X) would complete the pattern.
1.ldentify the figure that completes the pattern.

a. 1 b.2 c.3 d. 4
Ans. D

s

2. Identify the figure that completes the pattern.

3. Identify the figure that completes the pattern.
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(2) (3) (4)
b.2 c¢3 d. 4

4. ldentify the figure that completes the pattern.

X) (1) (2) (3) (4)

a. 1l b.2 c.3 d. 4
Ans D

5. Identify the figure that completes the pattern.

il
1 )
) (1) (2) (3) (4)
a. 1 b.2 c.3 d. 4
Ans D

6. Identify the figure that completes the pattern.

? A
) (1) 2) 3) (@)

a. 1 b.2 c¢3 d. 4
Ans D

7. Identify the figure that completes the pattern.

(X) (1) (2) (3) (4)

a. 1 b.2 c¢3 d. 4
Ans C
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8. Identify the figure that completes the pattern.

(1
b.2

=

(2)

c.3

\

(3) (4)

d. 4

9. Identify the figure that completes the pattern.

>

(X}
a. 1l
Ans B

(1)
b.2

c.3

(4)

10. Identify the figure that completes the pattern.

/

{X)
a. 1l
Ans B

(1
b. 2

(2)

c.3

Figure Formation and Analysis
Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure (X).

Exercise-1

1.

A

A~/
4 o

@ (b)

©

(d)

@ (b)

(©

(d)

@ (©)

©

(d)
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)

5

@

(b)

©

()

VAT AVAT SR
g9 |06
X) B) (b) © @)
6
N [ }P %,
Q U {a) {b) (c (d
(X)
7. g -
g) -o[[o]iofio
@ ® © (@
(X)
8, [
_@_ = O =8EA.C
| =le Elo = =
) @ (b) () (d)
5 NN MNN S DN_
NN A44 TS ™X
(@ (b) () (d)
(X)
10. | <~
D [4
ﬂ (@) (b) (c) (d)
(X)
11.
gfw Xy
ﬂ (@) (b) (c) (d)
x)
12. Bq 7
A > @ () (© @
(X)
Answer Sheet
1.A 2.C 3.B 4.B 5.C 6.B 7.C 8.D 9.A 10.C
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11.B | 12.B

Constructions of Square

Select the alternative which represents three
out of the five alternative figures which when
fitted into each other would form a complete

TP <D

(1) (2) (3) (4)
A.145 B.245 C.123 4.234

B
2.Select the alternative which represents
three out of the five alternative figures which
when fitted into each other would form a
complete square.

AY Do N

(1) (2) (3)
A.124 B.345 C.123 D.135

D

3.Select the alternative which represents
three out of the five alternative figures which
when fitted into each other would form a
complete square.

Qd&%%

(1) (2) (3)
A.124 B.125 C.234 D.245

A

4.Select the alternative which represents
three out of the five alternative figures which
when fitted into each other would form a
complete square.

AL oAb

(1) (2) (3) (5)
A.123 B.124 C.135 D.145

N/,
>DFQD

A.134 B.345 C.234 D.135

C
A & O k N
(1) (2) (3)
A.124 B.234 C.345 D.235
N
N b
7.
(1) (2) (3) (4) (5)

A.135 B.123 C.145 D.234

N S 7

(1) (2) (3) (4) (5)
A.123 B.234 C.345 D.245

N\ /L
P £ N SN N

(1) (2) (3) (4) (5)
A.123 B.234 C.134 D.235

D

10.

= o oo J ¢

(1) (2) (3) (4) (5
A.123 B.134 C.135 D.345

C

11. Select a figure from the given four
alternatives which fits exactly into Figure-X to
form a complete square.

Page 59 of 60



(x) (1) (2) (3) (4)
a.l b.2 c.3
d.4

A

a.l b.2 c.3 d.4

a.l b.2 c.3 d4
AL
D
15.
(x) (1) (3) (4)
a.l b2 c.3 d.4

AAR
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